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Study Material  2020-21 
 

Book-1 FUNDAMENTAL OF HUMAN GEOGRAPHY  
 

1. HUMAN  GEOGRAPHY : Nature and Scope 

 

MCQ (1 Mark ) 

Q.1 Who was the father of modern human Geography? 

A. Humboldt  

B. Ritter  

C. Ratzel  

D. None of these 

Ans. C  

 

Q.2  "Human geography is the study of mutually changeable relations of active human and  

unstable  earth ". Who gave this definition?  

A. Ratzel  

B. Ellen Semple  

C. Blach  

D. Carl Sauer 

Ans. B   

 

Q.3 Who was the founder of neo - determinism? 

A. Griffith Taylor  

B. Blache  

C. Marckinder  

D. Herbertson  

Ans. A  

 

Q.4 Who is not a French geographer out of the following ?  

A. Blache  

B. Bruches  

C. Demabzia  

D. Ritter  

Ans. D  

 

Q.5 Name the tri - Equilibrium factor of human geography ?  

A. Biotic  

B. Abiotic  

C. Cultural Factors 

D. All of these  

Ans. D  
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Q.6 "Anthropography "is written by  

A. Blache  

B. Bruches  

C. Demanzia  

D. Ratzel  

Ans. D  
 

Q.7  Who gave the concept of possibilism ?; 

A. Blache  

B. Bruches  

C. Demanzia  

D. French scholar Paul  

Ans. D  

 

Q.8 Who gave the concept of "Stop and Go determinism"?  

A. Griffith Taylor  

B.Ratzel  

C. E.C Semple  

D. Vidal de la Blache  

Ans . A  

 

Q.9 Who was the founder of neo determinism ? 

A. Blache 

B. Mackinder  

C. Both  

D.None of these  

Ans. D 

 

Q.10 The most important factor in the intersection between people and environment . 

A. Human intelligence  

B. Technology  

C. People's  perception  

D. Human brotherhood  

Ans. D  

 

Q.11 Which approach of Human Geography was followed in colonial period ?  

A. Areal differentiation  

B. Spatial organization  

C. Behavioural  

D. Regional  

ANS: D  
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Q.12 Which  is NOT a fact ?  

A. Pollution is caused due to industrial development  

B. Ozone layer is depleted due to primitive agriculture  

C. Global warming is due to green house effect  

D. Land has been degraded due to pollution  

ANS: B 

 

Q.13 Which element is not a part of environment ?  

A. Climate  

B. Relief  

C. Agriculture  

D. Water  

ANS: C 

 

Q.14 Who proposed the concept of Neo determinism ? 

A. Griffith Taylor  

B. Blache  

C. Huntington  

D. Ritter  

ANS: A 

 

Q.15 Which subject is called Mother Discpline ? 

A. Geography  

B. Economics  

C. History  

D. Political Science  

ANS: A 

 

Q.16 Naturalisation of humans means  

A. Low level of technological development  

B. high level of technological development  

C. moderate level of techonological development  

D. None of these  

ANS: A 

 

Q.17 _________ School of thought employed Marxian theory to explain the basic cause of 

poverty, deprivation and social inequality  

A. Welfare or Humanistic  

B. Radical  

C. Behavioural  

D. None of these 

ANS: B  
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Q.18 Historiacl Geography to which field of human geography  

A. Political Geography  

B. Social Geography  

C. Settlement Geography  

D. Economic Geography  

ANS: B  

 

Q.19 The idea that all the regions were a part of whole  i.e the earth is under which approaches  

A. Spatial organization  

B. Emergency of humanistic  

C. Areal differentiation  

D. Regional analysis  

ANS: D  

 

Q.20 Psephology is sister disciplines of which sub fields of human geography  

A. Military geography  

B. Electoral geography  

C. Agriculture geography  

D. industries geography  

ANS: B  

 

3 Marks Question 

Q.1 Explain the concept of Possibilism with suitable examples. 

Ans.  

Vidal-de-la Blache followed the approach of possibilism to study human geography. The      

possibilism school of thought offers many choices to men. In this approach, emphasis is on 

man rather than nature and man is seen choosing his needs according to his own culture and 

is also ñThe judge of their useò. The French School of Geographers is staunch supporters of 

possibilism. The main features of this thought are: 

(i) Natural environment does not control human life 

(ii ) Environment offers some possibilities to man 

(iii ) Environment is inert and man is seen as an active force rather than passive one 

 

Q.2 Explain the concept of óDeterminismô with suitable examples. (Delhi 2011,09) 

OR 

What is the meaning of environmental determinism? How did the naturalization of humans lead 

to the development of this concept? ( Compartment 2009) 

Ans. 

The concept of determinism explains that human is a passive agent, influenced by the 

environmental factors that are physical factors like climate, flora, fauna, etc which 

determine the attitude of decision-making and lifestyle of human beings. 

For instance, the Eskimos of Tundra adapted to the extremely cold climate. Their main 

food is whale, seals and walrus. They use animal oil for cooking, heating and lighting. 
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They live in igloos. Whereas Samang and Sakai of Malaysia and Pygmies of Congo basin 

live in hot and humid condition. They live on vegetable, hunting and fishing. 

Naturalization of human means when natural is stronger than humans and therefore 

humans are controlled by nature. This type of interaction was between primitive human 

society and nature. At the time, forces of nature were stronger and humans struggled to 

survive in that environment. Humans were passive agents. This gave rise to the term 

environmental determinism. 

 

Q.3Explain the concept of óNeo Determinismô with suitable examples. (All India 2011) 

OR 

What is the new concept of Griffith Taylor in the field of human geography? Describe the 

concept with examples, (AH India 200a) 

 

Ans. 

The concept of Neo Determinism was introduced by Griffith Taylor which emphasises 

the middle path or madhyam marg between two ends of environmental determinism and 

possibilism. It can be understood by the following points: 

1. The concept envisages that there is nothing absolute whether it is an absolute necessity 

(i.e. environmental determinism) and absolute freedom (i.e. possibilism). 

2. A human being can inhibit nature by obeying it, as possibilities can be created within a 

 limit. 

3. Over eOver-exploitation natural resources for the development of an economy causes 

environmental problems like the greenhouse effect, ozone layer depletion, global 

warming, receding glaciers and degrading lands. 

 

Q.4 State six different fields of Human Geography.  

Ans. The six different fields of human geography are as follows: 

1. Social Geography. 

2. Urban Geography. 

3. Political Geography. 

4. Population Geography. 

5. Settlement Geography. 

6. Economic Geography. 

 

Q.5 State any six subfields of human geography. 

Ans .The six subfields of human geography are as follows : 

1.Behaviour Geography  

2. Geography and social well-being  

3. Geography of leisure  

4. Cultural Geography  

5. Gender Geography  

6. Historical Geography  
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Q.6 What is the subject matter of the study of human geography? Explain any three facts. 

(Delhi 2015) 

Answer: 

The subject matter of the study of human geography is as follows: 

To Understand the Inter-relationship There is a close relationship between the 

physical/natural environment and the human world, so human geography studies and 

establishes that relation.Study the Spatial Distribution Human geography also studies the 

spatial distribution of human phenomena.Social and Economic Variations The subject 

matter is also concerned about studying the social and economic differences between 

different parts of the world. 

 

Q.7 Explain with examples of how nature gets humanized. (Delhi 2014) 

Answer: 

Human beings interact with their physical environment with the help of technology. 

Technology indicates the level of cultural development of society. Human beings were 

able to develop technology after they developed a better understanding of natural laws. 

For example, the understanding of concepts of friction and heat helped us to discover fire. 

Similarly, understanding the secrets of DNA and genetics enabled us to overcome 

diseases.With social and cultural development, humans develop better and more efficient 

technology. All these modem technologies help humans to construct dams, reservoirs, 

canals, etc. Weather modified programmes help in cloud seeding to induce precipitation, 

fogs, checking of hailstorms, nuclear programmes etc. 

Thus human moved from a state of necessity to a state of freedom and created 

possibilities with the resources obtained from the environment. In this way, nature gets 

humanised. 

 

Q.8 Name the geographers who advocated óEnvironmental Determinism.ô 

 

Ans- 

Environmental determinism rose to its prominent stage in modern geography beginning 

in the late 19th century when it was revived by the German geographer Friedrich Ratzel 

and became the central theory in the discipline. Ratzelôs theory came about following 

Charles Darwinôs Origin of Species in 1859 and was heavily influenced by evolutionary 

biology and the impact a personôs environment has on their cultural evolution. 

Envionmental determinism then became popular in the US in the early 20th century 

when Ratzelôs student Ellen Churchill Semple, a professor at Clark University in 

Worchester, Massachusetts, introduced the theory there. Sempleôs were also influenced 

by evolutionary biology. 
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Q.9 How is human geography related to other social sciences? 

 

Ans- 

Human geography attempts to explain the relationship between all elements of human 

life and space. In this way, human geography assumes a highly interdisciplinary nature. 

Human geography deals with the interaction of human beings with the environment. 

Since no human action can possibly be viewed in isolation, the discipline of human 

geography, inevitably, had to establish close interlinks, and often overlaps, with other 

sister disciplines of social sciences. 

Q.10State the six approaches of human geography. Delhi 2008 

Answer: 

The six approaches to human geography are as follows: 

 

¶ Exploration and description 

¶ Regional analysis 

¶ Areal differentiation 

¶ Spatial organisation The emergence of humanistic, radical and behavioural schools. 

¶ Post modernisation in geography 

Q.11 Which are the six sub-fields of economic geography? (All India 2008) 

Answer: 

The six sub-fields of economic geography are as follows: 

 

1. Geography of resources 

2. Geography of agriculture 

3. Geography of industries 

4. Geography of marketing 

5. Geography of tourism 

6. Geography of International trade 

 

Q.12 Define óHuman geographyô. Give four examples of elements of material culture created 

by humans, using the resources provided by nature. (All India 2012) 

Answer: 

Human geography studies the inter-relationship between the physical environment and 

the socio-cultural environment created by human beings through mutual interaction with 

each other. It attempts to explain the relationship between all elements of human life and 

space they occur over.An element of the physical environment are landforms, soils, 

climate, water, natural vegetation, rivers, flora and fauna, etc.Example of elements of 

material culture created by humans, after using the resources provided by nature are as 

follows: 

¶ Furniture from tree wood. 

¶ Machines using iron ore. 

¶ Houses using stone and soil. 

¶ Clothes from cotton. 
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Q.13What is the subject matter of the study of human geography? Explain any three facts. 

(Delhi 2015) 

Answer: 

The subject matter of the study of human geography is as follows: 

To Understand the Inter-relationship There is a close relationship between the 

physical/natural environment and the human world, so human geography studies and 

establishes that relation.Study the Spatial Distribution Human geography also studies the 

spatial distribution of human phenomena.Social and Economic Variations The subject 

matter is also concerned about studying the social and economic differences between 

different parts of the world. 

 

Q.14 Which are the three core points of the definition of the human geography given by Ellen 

Semple? (Delhi 2009) 

Answer: 

The core concerns of geography as a discipline are as follows: 

Changing the relationship between the unresting man and unstable Earth. 

Man is active and unresting. 

Emphasised on determinism 

 

Q.15 Nature and humans are inseparable elementsò. Justify the statement with suitable 

examples. (Delhi 2017) 

Answer: 

Nature and human beings cannot be separated as they are inseparable because man 

became social, economic and technologically advanced. He broadened his nature by 

creating his own environment through his design and skill to have provision for better 

food, shelter, access and comfort.Both nature and humans are described metaphors using 

symbols from the human anatomy like we often talk of the face of the earth, an eye of a 

storm, mouth of the river, snout (nose) of the glacier, neck of the isthmus and profile of 

the soil.All the above nicknames are given by humans to the natural.phenomenas. By 

doing so, a human can interact easily with nature. All these physical features are 

described as an organism and man-made structure like road, railways and waterways 

have been described as arteries of circulation. 

 

Q.16 in analytical term what does basically human geography study? 

Ans- 

Human geography studies the relationship between the physical /natural and the human 

world The spiritual distribution of human phenomena and how they come about the 

social and economic differences between different parts of the world. 

 

Q.17 make a list of elements that human beings have created through the activities on the stage 

provided by physical environment. 

Ans- 
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man creates many elements through his activities on the stage provided by physical 

environment with the help of technology. Houses villages cities farm sports items of our 

daily use and all others so elements of material culture have been created by men using 

the resources provided by physical environment. 

 

Q.18 how do human activities helps to create cultural landscape ? 

Ans- 

On the basis of attend knowledge technology and industries has been able to develop 

cultural landscape full stop the imprints of human activities are available everywhere. 

For example health resorts on Highlands have been used as recreation palaces, huge 

urban sprawls , fields, orchards and postures in plains and rolling hills have added to 

beauty quotes on coast ocean akroots on the ocean surface and satellites in the space have 

enabled man to touch the heights of the sky this was coined the term possibilism. 

 

Q.19" there is no free run without accidents". explain 

Ans- 

In this statement, the thought of possibilism in which man was taken as a free, and 

control and masters of unlimited powers has been criticized because as a consequence of 

free run of developed economy many problems are being faced today like greenhouse 

effect of ozone layer depletion, global warming commerce eating delicious korma 

degrading lands common problem of pollution, infrabuild diseases. 

 

Q.20 Define human geography in your own words. Mention any four fields of human 

geography. 

Ans- 
1. human geography is the study of changing relationship between the unresting man and 

the unstable Earth. 

2. human geography is the synthetic study of relationship between human societies and 

earth surface. 

3. human geography offers a new conception of the interrelationship between earth and 

human beings.four fields of human geography social geography comma urban geography, 

political geography, Population geography. 

 

5 Marks Question 

Q.1 "The knowledge and understanding of the laws of nature are extremely valuable to 

humankind.ò Explain the values that can help to use the gifts of nature in a sustainable manner. 

(All India 2016) 

Answer: 

The values that can help to use the gifts of nature are: 

Using the gifts of nature in a judicious manner. 

Care and concern about the gifts of nature. 

Striking a harmony with the physical environment. 

Understanding the environment. 
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Developing social and cultural environment in relation to the natural environment. 

Showing love and respect towards ómother natureô. 

 

Q.2 Explain how technology indicates the level of cultural development of society. (Delhi 2012) 

Answer: 

Human beings develop technology by understanding the laws of nature. The interaction 

of humans with nature encourages them to develop suitable technology. For example, the 

understanding of concepts about friction and heat helped in the discovery of fire. 

At Early stages, the level of technology was low. Later, more technological developments led to 

a higher level of cultural development. For instance, knowledge about aerodynamics developed 

faster planes or knowing about DNA and genetics helped in overcoming many genetic diseases. 

Thus, the greater use of technology results in the greater cultural development of society. 

 

Q.3" Nature and human beings are so intricately intertwined that they cannot be separated.ò 

Justify the statement. (HPTS; Delhi 2016) 

OR 

ñNature and humans are inseparable elementsò. Justify the statement with suitable examples. 

(Delhi 2017) 

Answer: 

Nature and human beings cannot be separated as they are inseparable because man 

became social, economic and technologically advanced. He broadened his nature by 

creating his own environment through his design and skill to have provision for better 

food, shelter, access and comfort.Both nature and humans are described metaphors using 

symbols from the human anatomy like we often talk of the face of the earth, an eye of a 

storm, mouth of the river, snout (nose) of the glacier, neck of the isthmus and profile of 

the soil.All the above nicknames are given by humans to the natural.phenomenas. By 

doing so, a human can interact easily with nature. All these physical features are 

described as an organism and man-made structure like road, railways and waterways 

have been described as arteries of circulation. 

 

Q.4 "The knowledge about nature is extremely important to develop a technology.ò Support 

this statement by giving three examples. (HOTS; All India 2015) 

OR 

How is the knowledge of nature important to develop technology? Explain with suitable 

examples. (Delhi 2010) 

Answer: 

Human beings interact with their physical environment with the help of technology. It is 

not so important to know what human beings produce and create, but it is extremely 

important to know with the help of what tools and techniques do they produce and create. 

Technology indicates the level of cultural development of society. Human beings were 

able to develop technology after they developed a better understanding of natural laws, 

e.g. the understanding of concepts of friction and heat helped us to discover fire. 

Similarly, understanding the secrets of DNA and genetics helped us to conquer many 
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diseases. We use the laws of aerodynamics to develop faster planes. Thus, knowledge 

about nature is extremely important to develop a technology. 

 

Q.5 Define óHuman Geographyô in your own words. Mention any four fields of Human 

Geography. All indin 2013 

Answer: 

Human geography studies the inter-relationship between the physical environment and 

the socio-cultural environment created by human beings through mutual interaction with 

each other. It attempts to explain the relationship between all elements of human life and 

space they occur over. 

The different fields of human geography are as follows: 

Social Geography It is a field of human geography which is connected with social 

sciences and sociology. Its sub-fields are behavioural geography, a geography of social 

well being, historical, medical geography, etc.Urban Geography It is a field of human 

geography connected with urban studies and planning.Geography It is a field of human 

geography connected with science. Its sub-fields are electoral geography, military 

geography, etc. 

           Population Geography It is a field of human geography connected with the demograph. 

 

Q.6 Which examples have been described in the context or ñHumanisation of Natureò and 

óôNaturalisation of Humansò? 

Answer :  

Naturalisation of Humans: In context of naturalisation of humans the following example 

has been taken: There was a man called Benda who lived in the wilds of the Abujh Maad 

area of central India. His village consisted of three huts deep in the wilds. Not even birds 

or stray dogs that usually crowded villages could be seen in these areas. Wearing a small 

loin cloth and armed with his axe he slowly surveyed the penda where his tribe practiced 

a primitive form of agriculture called shifting cultivation. Benda and his friends burnt 

small patches of forest to clear them for cultivation. The ash was used for making the soil 

fertile. Benda used to feel lucky to be born in such beautiful natural surroundings. When 

he used to take palmful of water, he remembered to thank Loi-Lugi, the spirit of the 

forest for allowing him to quench his thirst. He chewed on succulent leaves and roots. 

The boys used to collect Gajjhara and Kuchla, from the forest. These are special plants 

that Benda and his people used. He hoped the spirit of the forest would be kind and lead 

him to these herbs. These are needed to barter in the Madhai or tribal fair coming up the 

next full moon. He closed his eyes and tried hard to recall what the elders had taught him 

about these herbs and the places they were found in. He wished he had listened more 

carefully. Suddenly there was a rustling of leaves. Benda and his friends knew it is the 

outsiders who had come searching for them in the wilds. In a single fluid motion Benda 

and his friends disappeared behind the thick canopy of trees and became one with the 

spirit of the forest. 

Humanisation of Nature: In this context the following example has been takens. 

Winters in the town of Trondheim meant fierce winds and heavy snow. The skies were 
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dark for months. Kari used to drive to work in the dark at 8 am. She had special tyres for 

the winter and kept the headlights of her powerful car switched on. Her office was 

artificially heated at a comfortable 23 degrees Celsius. The campus of the university she 

worked in was built under a huge glass dome. This dome kept the snow out in winter and 

let in the sunshine in the summer. The temperature was controlled carefully and there 

was adequate lighting. Even though fresh vegetables and plants didnôt grow in such a 

harsh weather, Kari kept an orchid on her desk and enjoyed eating tropical fruits like 

banana and kiwi. These were flown in from warmer areas regularly. With a click of the 

mouse, Kari could network with colleagues in New Delhi. She frequently took a morning 

flight to London and returned in the evening in time to watch her favourite television 

serial. Though Kari was fifty-eight years old, she looked fitter and younger than many 

thirty-years-old people. 

 

Q.7 How did man develop and expand proper technology? 

Answer:  

Human beings were able to develop proper technology using his knowledge and 

intelligence. It has taken man a long time to reach at the present level of technology. In 

primitive age when the level of technology was very low man was bound to follow the 

dictates of nature. In those times man was a slave of nature, scared of its powerful force 

and used to worship nature to make it happy. In these conditions the state of cultural 

development was also primitive. However, the process was gradual but man developed 

technology and it is also to be noted that man has been able to utilise this technology 

only after understanding the various laws of nature. For example; understanding of laws 

of friction gave birth to many inventions. Similarly after understanding secrets of DNA 

and laws of genetics, man has overcome many diseases and aeroplanes could be invented 

only after understanding the laws of aerodynamics.Today the level of technology is 

touching the heights of sky through which man seems to get free from the natural forces. 

Earthquake, cyclones, landslides, volcanoes and other natural disasters keep reminding 

man that he is still a slave to nature.. Technology helped in reducing the harshness of 

labour, increased labour efficiency and provided leisure to human beings to attend to the 

higher needs of life. It also increased the scale of production and the mobility of labour. 

 

Q.8 Differentiate between Humanistic or Welfare School of Thought and Behavioural School 

of      Thought. 

Answer:  

Welfare School of Thought: Welfare School of Thought was mainly concerned with the 

different aspects of social well-being of the people. These included aspects such as 

housing, health and education. This thought was the result of rapid changes that 

happened after Second World War because this war gave birth to many human problems, 

therefore to solve these problems, welfare or humanistic thought has developed. The 

welfare geography approach deals with the issues related to inequality and injustice. the 

basic emphasis of welfare geography is on who gets what, where and how. The ówhoô 

suggests a population of an area under review (a city, region or nation). The ówhatô refers 



22  

 

to various facilities and handicaps enjoyed and endured by the population in the form of 

services, commodities, social relationships, etc. The ówhereô refers to the differing living 

standards in different areas and óhowô reflects the process by which the observed 

differences arise. 

Behavioural School of Thought: In 1950-60, on the basis of psychological researches 

through qualitative and other methods many humanitarian aspects like human race, caste 

and religion Behavioural School of thought laid great emphasis on lived experience and 

also on the perception of space by social categories based on ethnicity, race and region, 

etc. The behaviouristic approach is largely inductive, aiming to build general statements 

out of observations of ongoing processes. The essence of behavioural approach in 

geography lies in the fact that the way in which people behave is mediated by their 

understanding of the environment in which they live or by the environment itself with 

which they are confronted. 

 

Q.9 How have people living in Trondheim and other similar places overcome nature? 

Answer :  

The people living in Trondheim and other similar places have overcome nature through 

technology. For example, during winters in the town of Trondheim mean fierce winds 

and heavy snow. The skies are dark for months. Kari drives to work in the dark at 8 am. 

She has special tyres for the winter and keeps the headlights of her powerful car switched 

on. Her office is artificially heated at a comfortable 23 degrees Celsius. The campus of 

the university she works in is built under a huge glass dome. This dome keeps the snow 

out in winter and lets in the sunshine in the summer. The temperature is controlled 

carefully and there is adequate lighting. Even though fresh vegetables and plants donôt 

grow in such harsh weather, Kari keeps an orchid on her desk and enjoys eating tropical 

fruits like banana and kiwi. 

 

Q.10 What is the meaning of environmental determinism? How did naturalisation of humans 

lead to the development of this concept? 

Answer :  

The concept of environmental determinism explains that human is a passive agent, 

influenced by the environmental factors that are physical factors like climate, flora, fauna, 

etc which determine the attitude of decision-making and lifestyle of human beings. When 

technology was not well developed, humans were afraid of natureôs fury and worshipped 

it.For instance, the Eskimos of Tundra adapted to the extremely cold climate. This type 

of interaction was between primitive human society and nature. At the time, forces of 

nature were stronger and humans struggled to survive in that environment. This gave rise 

to the term environmental determinism. 

Q.11 when and how did human geography begin? Explain. 

Answer ï 

human geography may be said to have originated since man has started interacting with 

his environment. It has its roots deep in history. Therefore the concerns of human 

geography have a long temporal continue through oo approaches to articulate them have 
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changed over time. These dynamics and changes in articulation are indicator of vibrant 

nature of the discipline in the beginning of the interaction between various societies was 

negligible. Therefore knowledge about each other was also limited. Travelers and 

explorers used to gather information before a journey and navigational skills for 

underdeveloped. In late 15th century Europe witness attempts of exploration and the mix 

of mysteries about countries and people started to open up.in the colonial period, these 

attempts increased with an objective of getting access to resource and to obtain invent 

erised information. Through all this we get to know the sequential information about the 

development of human geography and to understand that the development of this 

discipline has been a steady process. 

Q.12 describe the fields and field of geography and its interrelationship with other fields. 

Answer ï 

nature of human geography is interdisciplinary. In order to understand and describe the 

human elements found on the earth, human geography has established strong bond with 

other social sciences and they are helping subjects. With the expansion of knowledge, 

new subjects keep on developing. These are studies with humanistic approach but 

because they are not free from geographic and environmental effects they become subject 

matter of human geography. Fields under human geography include social geography 

urban geography political geography Population geography include settlement geography 

and economic geography. subfields of social geography our behavior geography,  

geography of social building , geography of leisure ,cultural geography, gender 

geography, historical geography and medical geography. 

Subfields of political geography are electoral geography and military geography. 

Subfields of economic geography are geography of resources, geography of agriculture 

geography of tourism geography of industries commerce geography of marketing and 

geography of international trade. 

 

Q.13 How did man develop and expand proper technology?  

Answer- 

Human beings are able to develop proper technology using his knowledge and 

intelligence.it has taken man a long time to reach at the present level of technology. In 

primitive age when the level of technology was very low when was bound to follow the 

dictates of nature. endorse x men was a slave of nature scared of is power force and used 

to worship nature to make it happy. In this conditions the state of cultural development 

was also primitive. However the process was gradually but man develop technology and 

it is also to be noted that man has been able to utilise this technology only after 

understanding the various laws of nature. 

 

Q.14 geography is a blend of social science and physical sciences do you agree? justify.  

Answer-  

The basic aim of science and social sciences to understand the reality of the nature. History 

helps in knowing the man-made activities; physics helps us to calculate the effect of climate on 

man. Economics help us to understand the effect of human activities on the development of the 
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country. The geographical factor modified the course of history. That changed in the climate 

has influence on the occupation. All branches of physical geography has close relation with 

natural sciences. Biogeography has close links with zoology and botany full stop mathematics 

and arts have also contributed to the development of geography to measure the area and 

dimensions of the earth. Cartography and projections are based on mathematics. History of 

geographical thought is the mother of all branches of geography. Sociology of political science 

commerce economics provides the aspect of social reality. Population geography has close link 

with demography. 

 

Q.15 explain with examples, how nature gets humanized. 

Answer- 

Which social and cultural development, humans develop better and more efficient 

technology. They create new possibilities with the environment. Nature provide 

opportunities and human evolution of these opportunities. It is called possibilism. Nature 

gives an opportunity and men sustains it. In this way, gradually humanization of nature 

take place and imprints of human activities become visible. Example, health resorts on 

Highlands, use urban sprawl fields and orchards etc.  

 

Q.16 "the knowledge of nature is extremely important to develop technology ." support the 

statement by giving pimples. 

Answer-  

It is important to know with the help of what tools and technologies do human produce 

and create. Technology indicates the level of educational development of society. Human 

beings is able to develop technology after the develop better understanding of natural 

laws 

1. The understanding of concepts of friction and heat help us discover fire. 

2. understanding of the secrets of DNA and genetics enabled us to conquer many 

diseases. 

3. The laws of aerodynamics are used to develop fast planes. 

4.knowledge about nature is extremely important to develop technology. Technology 

loosens the shackles of environment on human beings. 

 

Q.17 What is the subject matter of the study of human geography? Explain factors.  

Answer- 

1. To stablish relationship between the physical world and the human world. 

2.to study the social and economic differences between different parts of the world. 

3. To study spatial distribution of human phenomena.  

4. To understand the earth as home of human beings and to study all those elements 

which have sustained them. 

5. Nature and human are inseparable elements and should be seen holistically 

 

Q.18" the knowledge and understanding of laws of nature and extremely valuable to 

humankind." explain the values that can help to use the gifts of nature in a sustainable manner. 
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Answer- 

The knowledge and understanding of the laws of nature are extremely valuable to 

humankind. Human beings can confer nature by oving its. Possibilities can be created 

within the limits which do not harm the balance of nature. The developmental steps 

which the developed countries had taken initially have resulted in greenhouse effect, 

ozone layer depletion, global warming commerce sitting lashes and grazing lands. So it is 

imperative for us to use the natural resources in a judicious manner for sustainable 

development. 

 

Q.19" nature and humans are inseparable elements". Justify the statement with suitable 

examples. 

Answer- 

nature and humans are inseparable. The earth is the home of mankind. It may be in 

different forms. All types of life support are provided by nature. The directly depend on 

nature. Nature and humans are inseparable and should be seen holistically. Physical 

features are described in metaforce using symbols from the human and not Tommy. For 

example face of earth NOS of glacier eye of storm mouth of river neck etc . 

 

Q.20 "nature provides opportunity and human egg use of these and slowly nature gets 

humanized and start wearing the imprints of human endeavor."justify the 

statement.Humanisation of nature 

Answer 

1. The people begin to understand the environment and the forces of nature with the 

passage of time. 

2. Which social and cultural development common human better and more efficient 

technology. 

3. Humans move from a state of necessity to a state of freedom. 

4. Dekh create possibilities with the resources obtained from the environment. 

5. The imprints of human activities are health resorts etc.  

 

Q.21" the primitive communities lived in complete harmony with the natural environment and 

as such the human were naturalised". Support the statement. 

Answer- 

The primitive communities lived in complete harmony with the natural environment:  

1. The primitive society live in complete harmony with their natural environment. 

2. It is realised that in all such cases nature is powerful force, worksheet, revered  and 

conserved. 

3. There is direct dependence of human beings on nature for resources with sustain them. 

4. The people begin to understand the environment and forces of nature with the passage 

of time. 

5. Social and cultural development human development and more efficient technology. 

6. The move from a state of necessity to a state of freedom. 
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2. The World Population- Distribution, Density and Growth 

(1 Mark Question) 

1. Which approach of human geography was followed in colonial period ? 

(iv) Areal differentiation  

(v) Spatial organization  

(vi) Behavioural  

(vii ) Regional  

Ans. d  

2. Which is not a fact? 

a. Pollution is caused due to industrial development  

b. Ozone layer is depleted due to primitive agriculture  

c. Global warming is due to green house effect  

d. Land has been degraded due to pollution  

Ans.b  

3. Which element is not a part of environment ? 

a. Climate 

b. Relief  

c. Agriculture  

d. Water  

Ans. c 

4. Who proposed the concept of neo determinism ?  

a. Griffith Taylor  

b. Blache 

c. Huntington  

d. Ritter 

Ans. a 

5. Which subject is called mother discipline ? 

a. Geography 

b. Economics  

c. History 

d. Political science  

Ans. a   

 6. The third most populous nation in year 2000 was: 

      a.  Nigeria  

      b. Japan  

      c.   China  

      d.    US  

     ANS: d. US 
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7. By the 2025 the world population will be  

a. 6.8 billion  

b. 8 billion  

c. 6 billion  

d. 8.6 billion 

     ANS: 8 billion  

 

8.The term crude birth rate is close in meaning to which of the following term ? 

a. Mortality  

b. Fertility  

c. Migration  

d. None  

     ANS:  b. Fertility  

 

9. Migrates who move out of a palce are called  

a.Emmigrants  

b. Migrants  

c. Foreigner  

d. None  

     ANS: a. Emmigrants  

 

10. Migrates who move into a new place are called  

a. Emmigrants 

b. NRI  

c. Immigrates  

d None  

   ANS: Immiration  

 

(3 Marks Question) 

Que 1. Explain any three push and any two pull factors that influence the migrations of a 

population in the world. (All India 2016) 

OR 

How is the mortality rate of a region affected? Explain any four push factors responsible for 

migration. Delhi 2015 

Answer: 

Migration is the displacement of people from one place to another. It can be permanent, 

temporary or seasonal. 

The push factors of migration are: 

 

o Unemployment 

o Poor living conditions 

o Political turmoil 

o Unpleasant climate 
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o The pull factors are: 

o Better job opportunities. 

o Better living conditions. 

The mortality rate of a region is affected by the availability of medical and health 

facilities, sanitation and provision of nutritious food. 

 

Que 2. Describe any three characteristics of the first stage of óDemographic Transition Theoryô. 

Delhi 2014 

Answer: 

Characteristics of the first stage of Demographic Transition Theory are as follows: 

The first stage has high fertility and high mortality because people reproduce more to 

compensate for the deaths due to epidemics and variable food supply. 

Most of the people are engaged in agriculture where large families are an asset. 

The population growth is slow. 

Que 3 : Describe any three characteristics of the last stage of óDemographic Transition 

Theoryô. All Indio 2014 

Answer: 

Characteristics of the last stage of Demographic Transition Theory are as follows: 

¶ In this stage both fertility and mortality decline. 

¶ The population is either stable or grows slowly. 

¶ The population becomes urbanised, literate and has the high technical know-how. 

 

Que 4:   Explain with example any three geographical factors which influence the distribution 

of the population in the world. Delhi 2008 

Answer: 

The three geographical factors which influence the distribution of the population in the 

world are as follows: 

o Availability of Water It is an essential component for life. The region with fresh 

water is the most preferred place to live in. Thatôs why places near river valleys are 

densely populated. 

 

o Landforms The region with fertile plain is most populated as compared to 

mountainous and hilly areas because these hinder the agricultural and industrial 

development. 

 

o Climate It plays a very important role in population concentration. This is because 

area having a moderate climate with moderate rainfall have more population 

whereas area with heavy rainfall and harsh climate have low population.   

 

Que 5.:  When people move from one place to another, the place they move from is called the 

Place of Origin and the place they move to is called the Place of Destination. The place of 

origin shows a decrease in population while the population increases in the place of destination. 
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Migration may be interpreted as a spontaneous effort to achieve a better balance between 

population and resources. 

(i) What is the cause of population change? 

(ii) Lack of which value lead to migration. 

Answer: 

(i) Migration is the cause of population change. 

(ii) Lack of following values lead to migration: 

 

¶ Self-respect and unity 

¶ Dedication 

¶ Dignity 

 

Que 6.  Family planning is the spacing or preventing the birth of children. Access to family 

planning services is a significant factor in limiting population growth and improving womenôs 

health. Propaganda, free availability of contraceptives and tax disincentives for large families 

are some of the measures which can help population control. 

(i) What is a significant factor in limiting population growth? 

(ii) Which value leads to family planning? 

Answer: 

(i) Access to family planning services is a significant factor in limiting population 

growth. 

(ii) Self respect, dignity and preservation of women pride are values which leads to 

family planning. 

Que.7 how does the human development index rank the countries?  

Answer- 

The human development index rank the countries based on their performance in the key 

areas of health education and access to resource. This rankings are based on sports 

between 0 to 1 that our country on from it records in the key areas of human 

development. Each of these dimensions is given a weight age of one-third. The HD I is 

the sum total of the weights assigned to these dimensions. 

Q.8 what are the aspects of human development? 

Answer- 

Leading a long and healthy life, being able to gain knowledge and having enough means 

to be able to live a decent life are the most important aspects of human development. 

There for access to resources health and education are the key areas in the human 

development. 

Q.9 names the four pillars of human development. 

Answer- 
1 . Equity 

2. Sustainability 

3. Productivity 

4. Empowerment 
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Q.10 defines the concept of human development. 

Answer- 

The concept of human development was introduced by Dr Mahbub ul haq. Dr Haq has 

described human development and development that enlarge people's choice and improve 

their life. The basic goal of development is to create conditions a people can leave 

meaningful life 

 

(5 MarksQuestion) 

Que 1. ñ90 per cent of the world population lives in about 10 per cent of its total land area, 

whereas the remaining 10 per cent population resides in the 90 per cent of its land areaò. 

Support the statement with suitable examples. (Delhi 2017) 

Answer: 

It is true that 90 per cent of the world population lives in about 10 per cent of its total 

land area, whereas remaining 10 per cent population resides in the 90 per cent of its land 

area. The factor which affects the distribution of the population in the world are: 

 

Cultural Factors Traditions and culture of a place includes the distribution of a 

population. People like to migrate in areas where common tradition and culture are 

found. 

Physical Factors Relief, climate, soil and mineral are the physical factors which 

determine the population of any place. Tibet is the region of very less population, 

whereas Indo-Gangetic plain is overpopulated. 

 

Means of Transport Regions with better facilities of means of transport lead to a better 

economic condition. This lead to a thick population. Mumbai-Pune Industrial region is 

the best example. 

 

Economic Condition Industrial and agricultural regions of the world are thickly 

populated. Industrial region of India, USA, Japan, UK are the examples. 

 

Que 2. What is the meaning of density of population? Examine the four geographical factors 

that influence the distribution of the population in the world with suitable examples. (Delhi 

2017) 

Answer: 

Population density refers to a ratio between the total population and the total land area in 

a country. A density of population is an important measure to analyse population 

distribution. Geographical factors that influence the distribution of the population in the 

world are: 

 

Relief Features Relief is the most important physical factor influencing the distribution of 

a population. High mountains, rugged terrain and some of the plateaus restrict human 

settlements. 
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Plains River valley has fertile soil. The plain area provides a better living condition. The 

nature of surface permits a wider scope for agriculture industries, transport and 

urbanisation. 

 

Climate It has a direct influence on human beings. Man refers to live in normal 

conditions of temperature and rainfall. Excessive heat, cold, dryness or wetness restrict 

the human population. Apart from human health, climate affects agriculture also. Asia, 

North-West Europe and North America are areas of dense population. 

 

Soil It is an important factor for the survival of humanity. Fertile soil supports 

agriculture. High degree of population concentration in South-East Asia is primarily due 

to fertile soil. Most of the worldôs fertile soil is found in the river valley of Ganga, Indus, 

Huang Ho, Mississipi, etc. 

 

Que 3. What is ódemographic cycleô? Describe three stages of Demographic Transition 

Theory? Delhi 2016 

Answer: 

The demographic cycle represents the changes in the population of a region as it moves 

from high births and high deaths to low births and low deaths as that region/society 

progress from rural, agrarian and illiterate to an urban, industrial and literate society. 

 

These changes occur in three stages that are collectively called Demographic Transition 

Theory. 

The three stages are as follows: 

 

The First Stage This stage is marked by high fertility and high mortality. The death rate 

is also high due to epidemics and variable food supply. Therefore, the population growth 

is slow and life expectancy is low. People are mostly illiterate and engaged in agriculture 

due to which large families are preferred. Level of technology is also low. 

 

Second Stage In this stage, the expansion of population remains high because the death 

rate reduces due to the improvement in sanitation and health conditions but the fertility 

rate remains high. Though at the later stage it declines with time. The mortality rate also 

decreases. The net addition to a population in this stage is high. 

 

The third Stage In the last stage, both fertility and mortality declines considerably and 

population either stabilises or grows slowly. The family size is deliberately controlled as 

the population becomes urbanised and literate. There is a high level of technical know-

how in this stage. High technical knowledge contributes deliberately in controlling the 

family size. 
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Que 4 : When does positive population growth takes place? Explain the geographical factors 

that influence the distribution of the population in the world. (HOTS: Delhi 2015) 

Answer: 

When the birth rate is more than the death rate between the two points of time or when 

people from other countries migrate permanently to a region is called positive growth of 

population. 

For geographical factors, 

 

The three geographical factors which influence the distribution of the population in the 

world are as follows: 

Availability of Water It is an essential component for life. The region with fresh water is 

the most preferred place to live in. Thatôs why places near river valleys are densely 

populated. 

 

Landforms The region with fertile plain is most populated as compared to mountainous 

and hilly areas because these hinder the agricultural and industrial development. 

 

Climate It plays a very important role in population concentration. This is because area 

having a moderate climate with moderate rainfall has more population whereas an area 

with heavy rainfall and harsh climate has low population. 

 

Que 5:  Explain the trends in population growth of the world with special reference to the help 

of science and technology. (HOTS; All India 2015) 

Answer: 

The trends in population growth show that from the sixteenth and seventeenth century 

there had been a considerable rise in population. World population exploded in the 

eighteenth century after the advancement of science and technology brought changes like 

the industrial revolution, better means of transportation and improvement in agriculture. 

Advancement in science and technology reduced the death rate as the spread of 

epidemics could be controlled and diseases could be cured. 

 

Therefore, within a span of every 12 years, one billion population is added to the 

existing number. Improvement in science and technology also helped in lowering the 

birth rate as many birth control measures are developed but the reduction in birth rate is 

less than death rate and therefore, there is a sharp rise in the world population. 

Que 6.  The human poverty index is more revealing then the human development index. 

Explain the examples . 

Ans.  The human development index measures attainments in human development. it 

reflects what has been achieved in the key areas of human development. Yet it is not the 

most reliable measures. This is because it does not say anything about the distribution. 

The human poverty index is related to the human development index. This index 

measures the shortfall in human development. It is a non income measures. The 
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probability of not serving till the age of 40 the adultilliteracy rate the number of people 

who do not have access to clean water and the number of small children who are 

underweight are all taken into account to show the shortfall in human development in any 

reason fullstop often the the human poverty index is more revealing than the human 

development index. looking at both these measures of human development together gives 

an accurate pictures of the human development situation in a country. The way to 

measure human development Are constantly being refined and New year paste of 

capturing different elements of human development are being researched fullstop 

researchers have found links between the level of corruption or political freedom in a 

particular region. There is also a discussion regarding a political freedom index and coma 

a listening of the most corrupt countries. 

Q.7 does particular region of the both world keep reporting low or high levels of human 

development question mark explain by giving suitable reasons. 

Answer- 

It is of the territory and per capita income are not directly related to human development. 

Of an small countries have done better than larger ones in human development. Similarly, 

literally  poorer Nations have been ranked higher than reach the neighbours in terms of 

human development. Example Sri Lanka, Trinidad and Tobago have a higher rank than 

India in the human development index despite having smaller economies. 

Q.8  Explain the three major areas that decide the rank of the human development index in the 

world. 

Ans. 

¶ Health: the indicated chosen to access health is the life expectancy at birth. Highest 

life expectancy means that people have a greater chance of living longer and 

healthier lives. 

¶ Education : the adult literacy rate and the gross enrollment ratio represent access to 

knowledge. The number of adults who are able to read and write the number of 

children enrolled in school shows how easy or difficult it is to accept acknowledge 

in a particular country. 

¶ Access to resources : it is measured in terms of purchasing power. Each of these 

dimensions is given in a weight age of 1 upon 3. The human development index is 

a sum of total of the weights assigned to all this dimensions. 

Q.9  equity is one of the most important pillars of human development. Explain any three 

human values that are required to give equal access to opportunities to everybody. 

Ans .  

1. It refers to make an equal access to opportunities available to everybody. 

2.the opportunities available to people must be equal irrespective of the gender race, 

income etc . 

3. Everybody should have equal access to knowledge. 
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Q.10 what is the basic goal of human development? Explain with example the four pillars of 

human development. 

Answer- 
¶ Equity- equal opportunities for all equity is the idea of fairness for every person 

between men and women and different social groups. 

¶ Sustainability - meeting the needs of today without compromising the ability of 

satisfying the needs of the future generation. 

¶ Productivity- full  participation of people in the progress of income generation and 

green full employment. 

¶ Empowerment- empowerment is the freedom of the people to influence 

development and decision that affects their lives.  

 
 

3.POPULATION COMPOSITION  

(1 Mark Question) 

Q.1 which one of the following country has highest sex ratio in the world ?  

A. India  

B. China  

C. Japan  

D.Latavia  

Ans. D  

 

Q.2 Which one of the following country has lowest sex ratio in the world ?  

A. Pakistan  

B. Iran  

C. Saudi Arabia  

D. Brazil  

Ans. C  

 

Q.3 Which one of the following figure represent the working age group of the population ?  

A. 15 - 65 years  

B. 15 - 66 years  

C. 15 - 64 years  

D. 15- 59 yeras  

Ans. D  

 

Q.4  Which one of the following reflected by Age - Sex pyramid ?  

A. Age structure  

B. Sex structure  

C. Population growth 

D.All of the above  

Ans . D  
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Q.5 How many type of Age - sex pyramid ?  

A. 2  

B. 4  

C. 5  

D. 3  

Ans . A  

Q.6 Triangular shaped Pyramid refers to  

A. Expanding population 

B. Constant Population  

C. Declining population  

D. None of these  

Ans . A  

Q.7 Bell shaped population refes to  

A. Expanding population  

B. Constant Population 

C. Declining population  

D. None of these  

Ans. B  

Q.8 Narrow shape of Age sex pyramid refers to  

A. High birth rate  

B. High death rate  

C. Low death rate  

D. All of the above  

Ans. C 

Q.9 Board base of Age sex ratio refes to 

A. High birth rate  

B. High Death rate  

C. Low birth rate  

D. All of the above  

Ans. A  

Q.10 In India , Population rate denotes the percentage of population above  

A. 8 years of age  

B. 7 year of age  

C. 5 years of age  

D. 6 yeras of age  

Ans . B  
 

Q.11 Expanding population pyramid shows  

A. Wide base  

B. narrow base  

C. Developed Economy  

D. Uniform width  

Ans. A  



36  

 

 

Q. 12 Which type of age sex pyramid is of Australia ?  

A. Expanding  

B. Constant  

C. Declining  

D. Negative  

Ans. B 

Q. 13 Lowest sex ratio is found in ________ 

A. Egypt  

B. UAE 

C. Qwait  

D. Iran  

Ans. B 

Q.14 Ageing population has age more than 

A. 40 years  

B. 45 years  

C. 50 years  

D. 60 years  

Ans: D  

Q.15 European countries deficit of males is due to ____________ 

A. low birth rate  

B. high deat rate  

C. better status of women  

D. better status of men  

Ans. c. better status of women 

Q.16. Which attribute does not distinguish people?  

A. age  

B. sex  

C. occupation  

D. industries  

Ans: D 

Q.17  In how many countries unfavorable sex ratio is found ?  

A. 52  

B. 62  

C. 72  

D. 82  

Ans. C 
 

Q.18 Sex ratio is measured in terms of no. of females per _________ males  

A. 10000 

B. 1000 

C. 10  

D. 100000 
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Ans : B 
 

Q.19 Population composition is also called  

A. sex composition  

B. Age structure  

C. Demography  

D. Literacy rate  

Ans: C  

Q.20 The percentage of youthful population in the earth is  

A. 23% 

B.36% 

C.60% 

D.25%  

Ans: B  

 

(3 Marks Question) 

Q.1 What do you understand by the occupational structure? Name the specific economic 

activities or occupational categories as identified by the United Nations? (Delhi 2011) 

Answer: 

Occupational structure refers to the proportional distribution of people under specific 

economic activities. These activities are as follows: 

o Agriculture, forestry, hunting and fishing 

o Mining and quarrying 

o Manufacturing industry 

o Construction 

o Electricity 

o Unclassified occupations 

o Commerce 

o Transportation and Communication 

There is another group which is not engaged in any economic activity and is also not the 

part of the active population i.e. children below the working age, old people, housewives 

and students. There is another classification of occupational structure which is divided 

into following four major groups: 

 

1) Primary activities such as hunting and agriculture. 

2) Secondary activities such as manufacturing. 

3) Tertiary activities such as service sector i.e. transport, communication, etc. 

4) Quaternary activities such as intellectual tasks i.e. research and development activities. 

 

Q.2 Why is sex ratio unfavorable to women in the world? Explain any three reasons. (HOTS; 

All Indio 2011) 

Answer: 
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The sex ratio is important information about the status of women in a country in a region 

where gender discrimination is rampant. The sex ratio is bound to be unfavorable to 

women. 

Reasons for unfavorable sex ratio for women are as follows: 

 

¶ Sex ratio is always unfavorable to women in those countries where gender 

discrimination is rampant. 

¶ In such countries or areas, the practice of female feticide, female infanticide and 

domestic violence against women are common practices. 

¶ The main reason for such practices is that women suffer from lower socio-

economic status in general and societies are male-dominating in particular. 

 

Q.3 Divide the population of the world into two groups on the basis of residence. How do they 

differ from each other? Explain any two points of difference. (Delhi 2011) 

Answer: 

Depending upon the place of residence, the population of a country is divided into two 

groups: 

1. Rural population Characteristics of Rural Population 

(a) People living in villages are known as the rural population. The main 

occupation of rural people is primary activities i.e. hunting, fishing, mining, 

agriculture, agricultural labor, etc. 

(b) Majority of the worldôs population resides in rural areas but the density of 

population is low. 

 

2. Urban population Characteristics of Urban Population 

(a) People living in towns and cities are known as an urban population. Urban 

people are engaged in secondary or tertiary occupations i.e. manufacturing, public 

and private services, transport and communication fields, etc. 

(b) Urban areas have a very high density of population as more job opportunities 

lead to the in-migration of people. 

 

Q.4 Proportion of literate population of a country is an indicator of its socio-economic 

development as it reveals the standard of living, the social status of females, availability of 

educational facilities and policies of a government. Level of economic development is both a 

cause and consequence of literacyò. 

(i) What a literate population indicate? 

(ii) Which value you have learnt from the given statement? 
 

Answer: 

(i) Literate population of a country indicate its socio-economic development. 

(ii) Following values can be learnt from the statement: 

Right to Education 

Nation/Pride 
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Q.5 what do you mean by aging population? 

Answer- 

Population ageing is a process by which the share of the older population becomes 

proportionately larger. In most of the developed countries it has increased due to 

increased life expectancy. 

Q.6 what does literacy rate in denote for India ?  

Answer- 

In India literacy rate denotes the percentage of population above 70 years of age who is 

able to read and write and have the ability to earth matter calculations with understanding. 

Q.7 what does age sex pyramid defines?  

Answer- 

The age sex structure of population refers to the number of males and females in different 

age groups .population pyramid is used to show age sex structure of population. 

Q.8 what do you understand by population composition?  

Answer- 

People of any country are diverse in many respects. each person in is unique in his own 

way. People can be distinguished by the age sex and the place of residence. The entire 

gamut of people residing in a particular place along with the growth of distribution and 

variety may be termed as its population composition. 

Q.9 what is the significance of age structure? 

Answer- 

Each structure represents the number of people of different age groups. This is an 

important indicator of population composition since the large size of population in the 

age group of 15- 59 indicates a large working population. A greater proportion of 

population above 60 years represents an aging population which requires more 

expenditure on health care facilities. 

Q.10 Why is the age structure considered an important indicator of population composition? 

Given one reason.(HOTS; Delhi 2016) 

Answer: 

Age structure is an important indicator of population composition because it tells about 

the proportion of population i.e. the percentage of the young and ageing population. This 

helps in planning for the future. 

Q.11 Why is the sex ratio in some European countries recorded favourable to females? Given 

one reason. Delhi 2016 

Answer: 

In some European countries, females recorded a favourable sex ratio because women 

enjoy better socio-economic status. 

Q.12 Name the country where the sex ratio is most unfavourable to women in the world. All 

Indio 2016 
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Answer: 

A country, where the sex ratio is most unfavourable to women, is UAE as there are 468 

females per 1000 males. 

Q.13 How is sex ratio calculated in different countries of the world? Delhi 2013 

Answer: 

In some countries the sex ratio is calculated by using a formula: 

MalePopulation/ FemalePopulation×1000 

Or the number of males per thousand females. 

In India, the sex ratio is calculated by using a formula: 

FemalePopulation/malePopulation×1000 

Or the number of females per thousand 

Q.14 Give the meaning of óAge structureô. (All Indio 2014,2013) 

Answer: 

The age structure of the population refers to the number of people of different age groups 

residing in a country. 

Q.15 What is the average sex ratio in the world? All India 2016 

Answer: 

The average sex ratio in the world is 990 females per 1000 males. 

Q.16 What is the average sex ratio in the world? All India 2016 

Answer: 

The average sex ratio in the world is 990 females per 1000 males. 

Q.17 which region have unfavourable sex ratio towards women?  

Answer- 

in recent where gender discrimination is rampant and where practice of female foeticide, 

infanticide and domestic violence against women are prevalent have unfavourable sex 

ratio towards women. 
 

Q.18 what does the literacy rate of a country indicate? 

Answer- 

proportion of literacy population of a country is an indicator of socio economic 

development as it reveals the standard of living social status of females availability of 

educational facilities policies of government. Level of economic development is both a 

cause and a consequence of literacy. 
 

Q.19 what is sex composition? 

Answer- 

the ratio between the number of women and men in the population is called the sex ratio. 

In some countries it is represented as number of males per thousand females. In India the 

sex ratio is without using the number of females per 1000 males. 
 

Q.20 what is age structure?  

Answer- 

it represents the number of people of different age groups. It is an important indicator as 

large size of population in the age group of 15-  59 indicate a large working population. 
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(5 Marks  Question) 

Q.1 Describe the rural and urban population composition of the world with examples. (Delhi 

2009) 

Answer: 

The division of rural and urban population is based on the occupational structure, socio-

economic level and level of development. The figure below presents the rural-urban 

composition of the population: 

1. The population composition of rural and urban areas of developed and developing 

countries are different. 

2. In developed countries like Canada, Finland, New Zealand and other West European 

countries females outnumber males in urban areas. Females settle in urban areas to avail 

the vast job opportunities and as farming is highly mechanised, it remains largely a male 

occupation in rural areas. 

3. In developing countries like Pakistan, Nepal and other Asian countries, urban areas 

remain male dominated due to predoa dominance of male migration. Also, female 

participation in agriculture is fairly high in these countries. Shortage of jobs, housing and 

lack of security in cities discourage women to migrate from rural to urban areas. 

 

Q.2 What is the sex ratio? Why is sex ratio unfavourable to women in some countries of the 

world? Explain any four reasons. (All Indio 2010) 

Answer: 

For sex ratio, 

The ratio between the number of women and men in the population is called the sex ratio. 

The world pattern of sex ratio is described as under: 

 

¶ On a rage, the world population reflects a sex ratio of 990 females per 1000 males. 

Highest sex ratio is recorded in Latvia i.e. 1187 females per 1000 males while the 

lowest is recorded in UAE i.e. 468 females per 1000 males. 

¶ The pattern of sex ratio does not exhibit variation in the developed region of the 

world. It is favourable for females in 139 countries and unfavourable in the 

remaining 72 countries. 

¶ Many Asian countries have low sex ratio like China, India, Saudi Arabia, Pakistan 

and Afghanistan that points to low socio-economic status and lower sex ratio of 

women. 

¶ Many European countries have a high sex ratio where females outnumber males. 

This deficit is attributed to better status of women and excessively male dom male-

dominated action to different parts of the world in the past. 

Sex ratio is unfavourable to women in some countries due to the following reasons: 
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¶ Gender discrimination In many countries of the world, there is widespread gender 

discrimination. Males are given more preference than females and enjoy greater 

rights and privileges. 

¶ Female foeticide Due to gender discrimination, females are not preferred. This 

results in evil practices like female foeticide, females infanticide, etc which causes 

unfavourable sex ratio. 

¶ Low socio-economic status Females have to face social discriminations due to 

which they are not economically independent or are paid less as compared to 

males. This lowers their status in society. 

¶ Domestic violence Low social status also leads to domestic violence like mental 

and physical tortures. This also leads to unfavourable sex ratio in many countries. 

 

Q.3 What is the sex ratio? Explain the world pattern of sex ratio with suitable examples. (All 

India 2015) 

Answer: 

The ratio between the number of women and men in the population is called the sex ratio. 

The world pattern of sex ratio is described as under: 

o On average, the world population reflects a sex ratio of 990 females per 1000 

males. Highest sex ratio is recorded in Latvia i.e. 1187 females per 1000 males 

while the lowest is recorded in UAE i.e. 468 females per 1000 males. 

o The pattern of sex ratio does not exhibit variation in the developed region of the 

world. It is favourable for females in 139 countries and unfavourable in the 

remaining 72 countries. 

o Many Asian countries have low sex ratios like China, India, Saudi Arabia, 

Pakistan and Afghanistan that points to low socio-economic status and lower sex 

ratio of women. 

o Many European countries have a high sex ratio where females outnumber males. 

This deficit is attributed to a better status of women and excessively male-

dominated out-migration to different parts of the world in the past. 

 

Q.4 Population ageing is the process by which the share of the older population becomes 

proportionally larger. This is a new phenomenon of the 20th century. 

In most of the developed countries of the world, the population in higher age groups has 

increased due to increased life expectancy. With a reduction in birth rates, the proportion of 

children in the population has declined.ò 

(i) What leads to population ageing? 

(ii) Which value is required while taking care of the ageing population? 
 

Answer: 

(i) Increased life expectancy leads to population ageing. 

(ii) Values which are required to take care of the ageing population are: 

(viii ) Nursing spirit 

(ix) Dedication 
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(x) Sacrifice 
 

Q.5 discusses the factors responsible for imbalances in the sex age found in different parts of 

the world and occupational structure. 

Answer- 

The factor responsible for imbalances in the age sex found in different parts of the world 

with quotes on occupational structure are as follows:  

the working population takes part in various occupational ranging from agriculture 

forestry fishing manufacturing construction commercial transport service communication 

and other and classified services being employed in the four sector of the economy. 

That workforce is a clear indicator of the level of development particularly economic and 

social development. This is because only a developed economy with industries and 

infrastructure can accommodate more workers in the secondary territory and quaternary 

sector. If the economy still in the primitive stages then the proportion of people in guest 

in primary activities would be hired as it is involved extraction of natural resources. 

Moreover the age structure of a country also is an indicator of the level of development. 

A large working population shows the progress of a nation, and the last dependent 

population of children and retired citizens show a burden on the economy of the country 

dragging its development process down. A higher participation of women in the 

secondary, territory and quaternary also is a strong indicator of the progress of a nation. 

the sex composition of a roller and urban settlement varies between developed and 

developing countries in developed countries like a western Europe Nation due to security 

and ability of jobs women move out to urban areas farming there is mostly mechanized 

Hans men tend to stay in rural areas and look after farming activities. Where a 

completely contrary picture can be seen in developing countries that India due to lack of 

security housing seen in developing countries like in India where due to lack of security, 

housing com job opportunities for females tend to step back in rural areas and looked 

after farming where is meals member book out to urban areas in search of working 

opportunities. 

Q.6how does sex ratio give important information about status of women in a country? 

in regions where is gender discrimination is rampant the sex ratio is bound to be 

unfavourable to women. Such areas are those where the practice of female foeticide 

coma female infanticide and domestic violence against women are prevalent full stop one 

of the reason could be lower socio economic status of women in these areas. You must 

remember that more women in the population does not mean they have a better status it 

could be that the men might have migrated to other areas for  employment. 

Q.7 describes the world pattern of sex ratio. 

Answer- 

on an average, the world population reflects a sex ratio of 102 males per 100 females. 

The highest sex ratio in the world has been recorded in Latvia where there are 85 males 

per 100 females. In contrast, in Qatar there are 311 males per hundred females. The 

world pattern of sex ratio does not exhibit variations in the developed reason of the world. 

The sex ratio is favourable for females 139 countries of the world and the unfavourable 
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for them in the remaining 72 countries listed by the United Nations. In general, Asia has 

the lowest sex ratio. Countries like China, India commerce Saudi Arabia, Pakistan 

Afghanistan have lowest sex ratio. On the other extreme is greater part of Europe where 

meals are in minority. A deficit of meals in the The populations of many European 

countries is attributed to better status of women and an exclusive male-dominated out-

migration two different parts of the world in the past. 

Q.8 how is occupational structure a good indicator of level of economic development of 

a nation?  

The working population take part in various occupational ranging from agriculture, 

forestry confessions from a manufacturing construction, commercial transport services, 

communication and other unclassified service. Agriculture, fishing, forestry and mining 

are classified as primary activities manufacturing a secondary transport communication 

and other services as territory and the jobs related to search and developing ideas as 

quaternary activities. The proportion of working population engaged in this four sectors 

is a good indicator of the level of economic development of a nation. This is because 

only developed economy with industries and infrastructure can accommodate more 

workers in the secondary 3 chunari sector. If economy is still in the primitive stages than 

the proportion of people engaged in primary activities world will be higher as it involves 

extraction of natural resources. 

Q.9 what is meaning of age structure of population? describe in brief four main characteristics 

of AIDS structure of the world population. 

Answer- 

Its structure represents thenumber of people of different age groups. This is an important 

indicator of population composition. 

following are the four characteristics of age structure of age composition of the world 

population:  

1. Population composition: the age group 0-15 is called young population, 15- 59 age 

group of working population and above 60 years represents and aging population which 

require more expenditure on health care facilities. 

2 age sex pyramid: the age sex structure of population refers to the number of females 

and males in different age groups.  

3. Expanding population: Nigeria, Bangladesh, Mexico, India and other developing and 

underdeveloped countries of the world is having the characteristics of expanding 

population which have triangular shaped pyramid with the white box. These have large 

population in lower age group due to high birth rate. 

4. Constant population: the developed countries like Australia has age sex  pyramid of 

bell shaped and tapered towards the top. it shows birth and death rates are almost equal 

leading to a nearly constant population.  

5. Declining population: the developed countries having low birth and death rates come 

under this category which shows the pyramid of narrow base and a tapered top ful stop 
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the population growth in developed countries is usually zero or negative. Example Japan 

Britain France etc.  

 

Q.10what is the impact of ruler urban migration on the age and sex structure on the place of 

origin and destination?  

Answer- 

Migration leads to redistribution of population within a country. Ruler urban migration is 

one of the most important factors contributing to the population growth of cities. Agent 

skill selective out migration from rural areas has adverse effect on ruler demographic 

structure. Hai out-migration results in serious imbalance in age sex composition. Male 

population within the working age group migrate out of rural areas living females 

children's and other old age people within increase the share of dependent population in 

rural areas. The situation especially difficult for females because they have to look after 

both domestic and economic work in the village common leading to higher participation 

of women in agriculture without decrease in their household workload. Also it leads to 

loss of human resources from the ruler areas leaving them with unskilled people does 

reducing the total productivity and hence hampering at the development of rural areas. 

Urban area receive heavy in migration of working age male population causing sex ratio 

to be highly unfavourable for females, which give rise to crimes against women and 

increase their vulnerability. 

Q.11 state the factors which discourage women to migrate from rural to urban areas in India. 

High female participation in farming activities in rural areas. 

Answer- 

1. Shortage of housing 

2. High  cost of living living in urban areas. 

3. Paucity off job opportunity 

4. Lack of security in urban areas 

5. Social constraints 

Q.12 list the factors influencing the literacy ratio. 

Answer- 

1. Level of economic development 

2. Urbanisation 

3. Status of women security 

4. Availability of water 

5. Government policies 

Q.13 describe the ruler urban composition of the world . 

Answer- 

1. The division of population into ruler and urban is based on residence in villages and 

cities. 

2. This division is necessary because rural and urban lifestyle differ from each other in 

terms of the livelihood and social conditions. 

3. The age-sex occupational structure density of population and level of development 

vary between rural and urban areas. 
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4.10 criteria for distinguishing ruler and Urban population varies from country to country.  

in general terms in rural areas people are engaged in primary activities. 

5. On the other hand urban areas have majority of the working population engaged in non 

primary activities.  

Q .14 explain expanding and declining population in age sex pyramid. 

Answer- 

Expanding population pyramidIt has a white base. It is typically of less developed 

countries..There is large population in lower age group due to high birth ratesThe same 

are applicable with the pyramids of Bangladesh and Mexico.Decliningpopulation 

pyramidIt has narrow base. It's tapered top shows low birth and death rates. 

The population growth in developed countries is usually zero or negative. 

Q .15 define the term occupational structure.describe the main characteristics each of the major 

groups of human occupations in the world. 

Answer- 

the working population of a country who take part in various occupations ranging from 

agriculture forestry fishing manufacturing commercial activities transport services except 

is called occupational structure.Four major groups of occupations arePrimary occupation: 

depends fully on nature example agriculture forestry fishing miningSecondary 

occupation: people engaged in manufacturing example industriesService sector: transport 

and communication example trade and commerce teachingQuaternary occupation: job 

related to research and developing ideas. 

Q.16 describe rular urban composition. 

Answer- 

population can also be categorised on the base on the places of residence into roller and 

urban there is no fix criteria to differentiate between rural and urban settlement patterns. 

A number of criteria are considered to categorise them in different parts of the world. 

There are based on the size of settlement, density of people , functions of social and 

cultural attributes, location administrative divisions etc. 

Rural and urban lifestyle generally differ from the point of view of livelihood, age sex 

occupational structure, density, level of economic development,social norms etc. 

Q.17 why is unfavourable female sex ratio found in India and other South Asian countries?  

In India and South Asian countries female sex ratio is low due to:  

Answer- 

1. Widespread gender discrimination 

2. High mortality rate of female child during birth. 

3. Lower socioeconomic status of women. 

4. High female infant mortality due to negligence and lack of medical facilities. 

5.preferences to male child which results in high female foeticide and female infanticide 

Q.18 what is age sex pyramid?  

Answer- 

the analysis of population in terms of age and sex groupings is represented by age sex 

pyramid it gives a clear idea about the proportion of people in different age groups male 

female ratio birth rate and death rate trends septra. The proportion of male to female 
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affects the rate of population growth through the net reproduction ratio. This measures 

the rate at which the females is being represented by girls who would end term be wives.  

the shape and size of the age sex pyramid where is among countries with difference in 

socio economic status. Factors like birth rate and death rate migration was family in 

Population policy affect the shape of the population pyramid. 

1. óóIndia is a land of linguistic diversity.ôô Support the statement. (5) 2019 CBSE. 

Answer:- 

a) 8
TH

 schedule of India contains 22 scheduled language 

b) 343 to 351 article are related to languages 

c) According to Grierson (Linguistic Survey of India, 1903 ï1928) there were 179 

languages and as many as 544 dialects in the country 

d) Among the scheduled languages, the speakers of Hindi have the highest percentage 

(40.42).  

e) The smallest language groups are Kashmiri and Sanskrit speakers (0.01 per cent each).  

CLASSIFICATION OF MODERN INDIAN LANGUAGES 

 
FAMILY  SUB FAMILY BRANCH/GROUP SPEECH AREA 

AUSTRIC/ 

(NISHAD ) 

1.38 % 

AUSTRO 

ASIATIC 

MON KHMER MEGHALAYA, NICOBAR ISLAND  

MUNDA WB, BIHAR, ODISHA, ASSAM, MP, MH, 

AUSTRO 

NESIAN  
OUTSIDE INDIA 

DRAVIDIAN/ 

(DRAVIDA) 

20% 

 

SOUTH DRA. TAMILNADU, KARNATAKA, KERALA  

CENTRAL DRA. ANDHRA PRADESH, MP, ODISHA, MH 

NORTH DRA. BIHAR, ODISHA, WB, MP 

SINO 

TIBETAN 

(KIRATA) 

0.58% 

TIBETO 

MYANMARI  

TIBETO 

HIMALAYAN  
J&K, HP, SIKKIM 

NORTH ASSAM ARUNACHAL PRADESH 

SIAMESE 

CHINESE 

ASSAM 

MYANMARI  

ASSAM, NAGALAND, MANIPUR, MIZORAM, 

TRIPURA, MEGHALYA 

INDO 

EUROPEAN/ 

(ARYAN) 

73% 

INDO ARYAN 

INDO ARYAN 
J&K, HP, UK, PH, HR, RJ, GJ, MH, GOA, MP UP WB, 

BIHAR, ASSAM 

DARDIC: J&K 

 

 

4. HUMAN DEVELOPMENT  

MCQ 

1. Which one of the following is not a country with high human development 

A) Norway   B) Argentina  C) Japan D) Egypt 
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2. Which one of the following scholars introduced the concept of human development 

A) Professor Amartya Sen B) Doctor Mahbub ul haq C)Ellen C  sample D) Ratzel 

3. Which country is the first in rank in human development index  

A) Latvia B) Norway C) Finland D) Austria 

4. Which is not used to measure the human development index  

A) Literacy rate  B)Per capita income  C)Life expectancy D) Social status of the 

people 

5. What was the rank of India in UNDP in the year 2006? 

A) 130  B)136  C) 126   D)128  

6. What is the range of measuring human development index ? 

A) 1 to 10  B)1 to 20 C)1  to 100 D)1 to 1000  

7. Which country have  introduce the Gross National Happiness index first? 

A)Nepal  B)Bhutan C) Bangladesh D) Sri Lanka 

8. Which one of the following best describes development? 

A) Increasing size B) Positive change in quality  C)A constant in size simple D)Change 

in the quality. 

       9. Which of the one is not a Pillar of human development? 

 A) Equity B) Sustainability  C) Productivity D) Capacity  

     10. Development means- 

 A) Improvement in quality B) Always positive C) Value added D) All of the above 
 

1 Mark Questions 

1. "Leading a long and healthy life is an important aspect of human development." Give an 

argument to support this statement. HOTS, Delhi 2016 

Ans. A life is meaningful when people are healthy able to develop their talents, participate in 

society and be free to achieve their goals. This kind of life is an important aspect of 

human development. 

2. Define the concept of human development? All India 2016 

Ans. Human development is defined as the type of development  that enlarges people's choices 

and improves their lives.  

3. Which country has proclaimed 'Gross National Happiness' as the ,easier of a country's 

progress. All India 2014 

Ans. The country to proclaim Gross National Happiness (GNH) as the measure of a country's 

progress is Bhutan. 

4. Name the country which has the highest rank in the Human Development Index. All 

India 2014 

Ans. The country standing highest in human development index is Norway. 
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5. Which state of India has the highest rank in Human Development Index (HDI) value? All 

India 2014 

Ans. Kerala state has the highest rank in HDI. 

6. Mention any two key areas of measuring human development? Delhi 2013  

Ans. The two key areas are: 

 (i)  Health      (ii) Education 

7. Which is the most significant aspect of human development? Delhi 2012 

Ans. Education, healthy life and resources ae the most significant aspects of human 

development. 

3 MARKS QUESTIONS 

8. Explain any three human values which are required to empower socially and 

economically disadvantages people. NOTS, Delhi 2013 

Or 

 "Equity is one of the most important pillars of human development." Explain any three 

human values that are required to give equal access to opportunities to everybody. NOTS, 

All India 2013 

Ans. Equity means availability of equal opportunities to everyone. If everybody has equal 

access to available opportunities, then a quality life is possible. The three human values 

required to give equal access to everybody are as follows: 

(i)  Providing equal opportunities without any discrimination of caste or race.  

(ii) Equal opportunities should be available irrespective of gender. 

(iii) Equal opportunities without any discrimination of income or class. 

9. "Development is a qualitative change, which is always value positive" support this 

statement with any three suitable arguments. NOTS Delhi 2012 

Ans. Development means a qualitative change which is always value positive. This means that 

development con not take place unless there is an increment or addition to the existing 

conditions. Development occurs when positive growth takes place.  

 The give statement can be supported by the following three arguments. 

(i) The term 'development' refers to qualitative shift that is always value positive. It 

occurs when there is a positive change in quality over a time frame. Although 

development is always influenced by growth vut only in the case of positive and 
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qualitative growth e.g. if a child grows by height but is not mentally able, then 

growth is not accompanied with development. 

(ii ) Countries with better economic conditions are more developed while poor nations 

are less developed. But in many cases the benefit of economic growth does not 

reach the common man. Quality of like of life of the people of a country, the 

opportunities they have, freedom of living. etc are important aspects of 

development. 

(iii ) Dr. Mahbub-ul-Haq described human development as development that enlarges 

people's choice and improves their lives. He believed that people are central to all 

development and the main aim of development is to create a situation and 

environment where people get meaningful lives. The meaningful life means a life 

that must be full of objectivity, that includes health, participation in societal helm of 

affairs and focus on people's goals. 

10.  Explain the key areas of human development. Delhi 2012 

Or 

 Explain the three main areas of measuring human development. All India 2008 

Ans. The key areas of human development are health housing and access to resources. 

 Health Indicator Indicator of health is measured through life expectancy at birth, that 

shows if people have longer and healthier lives. 

 Education Indicator level of education is seen through gross enrolment ratio and sdult 

luteracy rate that represents access to knowledge. 

 Access to Resources The indicator of access to resources is purchasing power in terms of 

US dollars, These are the key areas or the indicators through which human development 

is measured. 

11. Differentiate between 'growth and development' with an example. All India 2012 

Ans.  Growth refers to quantitative changes, Its Values can be  neutral, positive or negative 

Development refers to qualitative changes and its value is always positive. This is 

because development cannot take place unless there is an increase or a raise in existing 

conditions thus leading to positive changes. For e,g, the population of a city increases 

from 1 lakh to 2 lakh over a period of time. This is growth as the number has increased. 

 However, if the basic necessities like food, housing, education and sanitation facilities 

remain constant, then the growth isnot accompanied by development. 

12. Example any three features of welfare approach of human development. All India 2012 

Or 
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 Explain any three characteristics of ' welfare approach' of human development in the 

world, Delhi 2010 

Ans. The characteristics of welfare approach are as follows: 

1. The welfare approach of human development is an approach which looks at human 

beings as beneficiaries or targets of all development activities. 

2. According to this approach, the government is responsible for increasing levels of 

human development by increasing expenditure on welfare such as on education, 

health[ housing, sanitation etc. 

3. In the approach, people are passive recipients of the beneficiaries of human 

development, while the government is the provider of those beneficiaries. 

13. Explain the concept of 'Equity ' and 'Sustainability' as the pillars of human development.  

Delhi 2011  

Ans.  Just as any building is supported by pillars, the idea of human development is supported 

by the concepts of equity and sustainability. Both are explained below. 

 Equity It means availability of equal opportunities to an individual. The available 

opportunities have equal access without any discrimination on the ground of gender, race, 

income and caste. A quality life is possible if access to resources is provided on the basis 

of being a human. 

 Sustainability It refers to continuity in availability of opportunities, Human development 

is possible when opportunities are available to the present and future of a country. It must 

be ensured that equal access to resource should be available to next generation. 

14. Explain the 'basic needs approach' to human development in the world. Delhi 2010 

Ans. The basic need approach to human development in the world was initially proposed by 

International Labour Organisation (ILO). In this approach, the question of human choices 

is ignored as the main emphasis is laid on the provision of basic needs. These basic needs 

are the necessity that enables a person to survive and fulfil the essential requirements. 

There are six basic needs identified in this approach. They are as follows. 

 Health Proper health required to maintain a healthy weight. 

 Education Provision of schools and colleges. 

 Food Nutritious food to fulfil daily requirements. 

 Water Supply Provision of clean drinking water. 

 Housing Proper dwelling place with basic facilities. 

15. "The size of a territory and per capita income are not directly related to human 

development" Support the statement with examples. HOTS All India 2017 
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Ans. Human Development is the process of widening people's choices and the level of well 

being they achieves. According to United National Development Programme, long and 

health life, education and decent standard of life are most important elements of human 

development are: 

 Health Indicators Health is major component of human development. It is measured in 

terms of birth rate and death rate. 

 Economic Indicators An essential part of the human development is economic 

productivity. Growth in economy and economic productivity. Growth in economy and 

economic productivity can be assessed with the help of gross national product and per 

capita income. 

 Life Expectancy With the declining vital rates life expectancy of birth has gone up as it 

was only 37.1 for male and 36.2 years for female in 1951. It want up to 62.30 year and 

65.27% years respectively during 1996.2 

 Social Indicators Education is universally recognised as a major component of human 

development. As such a minimum level of literacy sums to be essential for a population 

to bread out of the union circle of poverty. 

 The economics structure of a country is the most important indicator of human 

development. The size of a territory does not play any role in it. The advanced countries 

have higher level of economic prosperity while the less developed and backward 

countries are at lower level of economic growth. 

 The developed countries per capita income is indirectly related to economic structure and 

overall all these indicators make Human Development Index of a country. The size of a 

territory and per capita income are not directly related to human development but it do 

play some role.\ 

16.  What is human development Analyse the four pillars fo human development. All India 

2017 

Or 

 What is 'human development'? Explain the four pillars of human development. Delhi 

2015 

Ans. For definition of human development refer to Q- No.2 

 Human development have four concepts such as equity, sustainability. Productivity and 

empowerment. These concepts are based on human development and are called as pillars 

of human development such as: 

 Equity : It means availability of equal opportunities to an individual. The available 

opportunities have equal access without any discrimination on the ground of gender, race, 
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income and caste. A quality life is possible if access to resources is provided on the basis 

of being a human. 

 Sustainability  It refers to continuity in availability of opportunities. Human 

development is possible when opportunities are available to the present and future of a 

country. It must be ensured that equal access to resource should be available to next 

generation. 

 Productivity Human labour productivity or productivity in context of human work refers 

to productivity regarding human development. A nation should invest in its productive 

labour by providing them better healthcare facilities, education and training, Healthy and 

educated people can contribute more than unhealthy and illiterate people in development. 

 Empowerment It refers to having power of making choices. Freedom and capabilities 

can enhance the power and capacity to make choice. Government can enhance 

empowerment by good governance and people oriented policies 

 

5. PRIMARY ACTIVITIES  

MCQs 

1. Which one of the following does not follow monoculture? 

A) Dairy farming B) Plantation agriculture C) Mixed farming   D) Commercial grain 

farming 

2. Which one of the following is not a plantation crop? 

A) Coffee   B) Wheat C)Sugar Cane D)Rubber 

3. Transhumance word refer to as ï 

A) Climate change  B) Movement of the pastoral community  C) Name of the 

pastoral community  

D) Thick grass layer 

4. Slash and burn agriculture is also known as cultivation 

A) Commercial cultivation  B)Subsistence cultivation  C)Intensive subsistence 

agriculture   

D) Mixed agriculture 

5. Growing grapes is known as- 

A) Sericulture  B) Truck farming  C) Viticulture  D)Horticulture 

6. Which of the following type of cultivation was developed by European? 

A) Kolkhoz   B) Swampy  C) Viticulture  D) Plantation 

       7. Which one of the following is not cultivated under dry land under dry farming? 

A) Ragi   B) Groundnut  C)Sugar cane D) Jowar 

       8.New Zealand is famous for one of the following types of agriculture- 

A) Mixed farming B) Extensive farming  C) Subsistence farming D) dairy 

farming 

       9. Shifting cultivation in North-eastern India is known as- 



54  

 

               A) Milpa B) Ladang C) Jhuming D) None of these 

     10.Ranches are found in which country? 

                A) Australia  B) New Zealand C) Argentina D) USA 

      

 

1 MARK QUESTIONS 

1. State the two groups of factors which affect the profitability of mining. All India 2017

  

Ans. The profitability of mining depends on two main factors. 

(i)  Physical factors include the size, grade and the mode of occurrence of the deposits. 

(ii) Economic factors such as the demand for the mineral, technology available and used. 

2. "Agri -business farms are mechanised and large in size." Examine the statement. HOTS; 

Delhi 2016  

Ans. Agri-business farms are large farms where large scale production takes place. Therefore, 

these farms are mechanised as per latest scientific technology. The production in these 

farms is done for commercial purposes.  

3. What are economics activities? Delhi 2015 

Ans. Human activities that generate income are called economic activities. They are grouped 

under primary, secondary, tertiary and quaternary activities. 

4. Who are called red collar workers? All Inda 2016 

Ans. People who are engaged in primary activities are called red collar workers due to the 

outdoor nature of their work. 

5. What is truck farming? Delhi 2014 

Ans. Truck farming specialises in the cultivation of vegetables. It constitutes growing of 

vegetable around the urban centres to meet the daily requirement of urban areas. 

6. Name the two activities on which the earliest. Human beings were dependent for their 

sustenance. Delhi 2011, All India 2008 

Ans. The two activities are gathering and hunting. 

7. What is nomadic herding? All India 2011 

Ans. Nomadic herding is also called pastoral nomadism. It is basically primitive subsistence 

activity in which herders  depend upon animals for food, clothing, shelter, tools and 

transport. 
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8. Name any two areas of high latitudes in the world, where gathering economic activity is 

practised. All India 2010 

Ans. Two areas of high latitudes where gathering is practised is Northern Canada and 

Northern Eurasia. All India 2016 

9. Name the country where practically every farmer is a member of cooperative society? 

Delhi 2008 

Ans. Denmark is a country where every farmer is a member of cooperative society. 

3 MARKS QUESTIONS 

10. Explain any three features of underground mining methods in different countries of the 

world All Inda 2010 

Ans. The three features of underground methods in defferent countries of the world are as 

follows. 

It is done when the ore lies deep below the surface. In this method vertical shafts have to 

be sunk from where underground gallaries, radiate to reach the minerals. 

   For underground mining, lifts, drills, haulage vehicles, vehicles, ventilation systems for 

safety and efficient movement of people and materials are required 

The method used in underground mining is risky because poisonous gases, fires, floods 

and caving can lead to fatal accidents. 

11. "Dairy farming is the most advanced and efficient type of rearing of milch animals in the 

world." Analyse the statement with examples. HOTS; All India 2009 

Ans. It is true that dairy farming is the mist advanced and efficient type of rearing of animals 

for milk in the world. This is because it is highly capital as well as labour intensive, 

Animal Sheds, storage facilities for fodder, feeding and mulching machines add to the 

cost of dairy farming.  

 Special emphasis is laid on cattle breeding, health care and veterinary services, It is 

labour intensive also due to the caring, feeding and milking processes involved. The 

developed means of transportation, refrigeration, pasteurisation and other preservation 

processes are used to increase the duration of storage of various dairy products. 

12.   Study the diagram given below and answer the questions that follow. 

(i) Two types of mining are shown in as A and B. identify them and give the correct 

name each. 

(ii ) State two characteristics of each type of mining. 

Ans. (i) The two types of mining are: 
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A- Surface mining/open cast or strip mining. 

B-  Underground mining/Shaft mining. 

Characteristics of surface mining are: 

(a) It is done when the ore lies deep below the surface. 

(b) Lifts, drills, haulage vehicles, ventilation system for safety and efficient  

Movement of people and materials are required. 

5 Marks Questions 

   13. Describe the way of life of nomadic herders in the world. All India.2017.                        

Or 

Define the term nomadic herding? Explain its any four characteristics.  Delhi 2015 

Or 

Explain any five features of nomadic herding in the world.                         All India 2012 

Ans. Nomadic herding is also called pastoral nomadism. It is basically primitive subsistence 

activity, in which herders depend upon animals or food, clothing, shelter, tools and 

transport Characteristics of nomadic herding are as follows : 

(i)     They move from one place to other place with their livestock for quality of pastures 

and water. Each nomadic community occupies a well identified territory as a matter of 

traditions. 

(ii )     The variety of animals related in different regions of the world, e.g. in tropical Africa, 

cattles are most important livestock; in the hilly areas of Tibet and Andes yak and 

lamas in Arctic and sub-Arctic areas, reindeer is the most important livestock. 

(iii ) Movement in search of pastures is undertaken either owner vast grassland or 

mountainous regions. 

(iv) Now-a days number of pastoral nomads has been limited and their areas are also 

decreased due to imposition of political boundaries and new settlement plans by 

different countries. 

14.  Review any five measures adopted to solve the problems of Indian agriculture. NOTS; 

All India 2017. 

Ans. Main measures adopted solve the problems of Indian agriculture are: 

Irrigation System Earlier Indian agriculture was totally depended on rain fall. But now 

canals, Wells, tube wells were made to decrease the dependence of agriculture on rainfall. 

Improvement of Credit Facilities Banks are giving easy credit to the farmer at very low 

interest rate. 
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Land Reforms It had changed the distribution of cultivable land and helps in agricultural 

development. 

Commercialisation This help in increase in the per hectre production increase and also 

per person production increases. 

High yield variety seeds The HVY seeds greatly help Indian agriculture as it require less 

water and fertilizer. This increase the production. 

15.  Classify intensive subsistence agriculture into two categories practised in world. How 

are they different from each other? Explain. NOTS; All India 2017 

Ans. Intensive subsistence agriculture is largely found in densely populated regions of 

monsoon Asia. There are two categories practiced in the world: 

(i) Intensive subsistence agriculture dominated by wet paddy cultivation. 

(ii ) Intensive subsistence agriculture dominated by crops other than paddy. 

Characteristics of intensive subsistence dominated by wet paddy cultivation are. 

(i) It is characterised by dominance of rice crop. Land holding are very small due to 

the high density of population. 

(ii ) Use of machinery is limited as most of the agricultural operations are done my 

manual labour. 

Characteristics of intensive subsistence dominated by crops other than paddy are. 

(i) Wheat, soybean, barley and sorghum are grown in Northern China 

Manchuria. North Korea and North Japan. In India, Wheat is grown in western 

parts of the Indo-Gangetic Plains and millets are grown in dry parts of Western and 

Southern India. 

(ii ) Irrigation systems are used frequently as this type of agriculture is practiced in dry 

areas. 

16. Differentiate between nomadic herding and commercial livestock rearing, stating any 

five points of distinction. Delhi 2016 

Ans. 

Nomadic Herding Commercial livestock rearing 

Nomadic herding is a primitive 

subsistence activity where herder 

move from one place to another along 

with their livestock. 

Commercial livestock rearing is an 

organised activity that is practised on 

permanent ranches. 

In nomadic herding a wide variety of 

animals are reared. 

In commercial livestock only one type 

of animal is reared. 
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Nomads heavily rely on their animals 

for food, clothing. Shelter, tools and 

transport Here local needs are fulfilled. 

In commercial livestock rearing. 

Animal products like meat, wool, 

hides, skin are processed, packed 

scientifically and exported to different 

world markets. 

Nomadic herding is done is open 

pastures over vast horizontal distances 

or vertical  elevations in hilly areas 

and mountains using primitive 

techniques. 

Commercial livestock rearing is done 

on permanent ranches using latest 

scientific technology. 

Nomadic herding is practised in areas 

of extreme climatic conditions like in 

tropical Africa. Asiatic deserts 

mountainous regions of Tibet. Arctic 

and Sub Arctic areas. 

Commercial livestock rearing is 

associated with Western Culture and 

practised where large areas are 

available. New Zealand, Australia, 

Argentina, United State are important 

countries where it is practised. 

17. Differentiate between co-operative farming and collective farming, stating five points of 

distinction. Delhi 2016 

Ans.  

Co-operative Farming Collective Farming 

Cooperative farming takes place when 

farmers pool their resources 

voluntarily for efficient and profitable 

farming 

Collective farming takes place when 

there is collective labour and there is 

social ownership of means of 

production. 

In co-operative farming farmers have 

individual ownership of the resources 

In collective larming. Farmers pool all 

their resources through  they are 

allowed to keep very small plot of land 

for their own use.  

Co-operative societies help farmers in 

buying farm inputs on favourable 

terms. 

In collective farming all farm inputs 

are provided by the government. 

Co-operative societies also help the 

farmers in selling the farm products 

profitably. 

Collective farming, farm products are 

sold to the state at a fived price. 

Co-operative farming has been 

successful in many European countries 

and that is why it is practised in many 

other countries of the world. 

Collective farming was introduced in 

former Soviet Union but after its 

disintegration, the system of farming 

has been modified. 

                        

18. Describe any five characteristics of plantation agriculture in the world. All India 

2016,2009 



59  

 

or 

 Name any six crops of plantation agriculture of the world. Describe any four 

characteristics of plantation agriculture. All India 2008  

Ans. Six crop of plantation agriculture are tea, coffee, rubber, sugarcane and bananas 

Characteristics of plantation agriculture are as follows. 

(i) kind of agriculture was introduced by Europeans in colonies situated in tropics, 

e/.g. the French established cocoa and coffee plantation in west Africa. British set 

up large tea gardens in India and Sri Lanka and rubber plantations in Malaysia and 

banana plantations in West Indies. 

(ii)  It needs large estate of plantations large investment and managerial support. 

(iii) Technical support and scientific methods of cultivation are required. 

(iv) It needs single crop specialisation, cheap, labour and good system fo transportation 

which connects plantations to factories and factories to markets. 

19. Define the term commercial livestock rearing. Explain any four characteristics. All India 

2015 

Or 

 Describe any five characteristics of commercial livestock rearing, practised in the world. 

Delhi 2014, 2012 

Ans. Commercial livestock rearing is a system in which animals are reared on extensive 

grasslands with modern scientific methods. This kind of rearing fulfil the demands of 

milk, meat, wool, etc in worldwide. Animal products are traded at national and 

international level to earn money. 

 The characteristics of commercial livestock rearing are as follows; 

(i) Commercial livestock rearing is totally opposite to the nomadic herding. It is more 

organised and capital intensive, the commercial livestock rearing is practised on 

permanent ranches. 

(ii ) These ranches are of large size and are divided into parcels which are fenced to 

regulate the grazing which are fenced to regulate the grazing. When one parcel is 

grazed then animals are moved to another parcel. All animals are kept according to 

the caring capacity of pasture. 

(iii ) In the pasture, only one type of animals are reared. Some important animals are 

sheep, wool, hides and skin. These products are processed and packed 

scientifically and exported to different world markets. 

(iv) Ranches are managed scientifically and they emphasises on breeding, genetic 

improvement, disease control and health care on the livestock. 
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(v) USA, Argentina, New Zealand, Australia and Uruguay are important countries 

where commercial livestock rearing is practised. 

 

 

 

20. Define the term 'mixed farming' Explain anyu four characteristics of mixed farming 

practised in the world All India 2014 

Ans. Mixed farming is a type of agricultural farming in which farmers cultivate crops 

and also rear animals on farm. The four characteristics of mixed farming are as 

follows. 

(i) This king of agriculture is practised in developed parts of the world viz. North-

Western Europe, Eastern-North America and parts of Eurasia. 

(ii )  Mixed farms are moderate in size and usually the crops associated with it are 

wheat, barley, rye, maize, fodder and root crops, Fodder crops are an important 

component of mixed farming. 

(iii ) The rotation and inter-cropping play on important role in maintaining soil 

fertility chemical fertilizers and green manures are used extensively to achieve 

more output. 

(iv) Equal emphasis is laid on crop cultivation and animal husbandry so that farm 

animals like cattle, sheep, pigs, poultry provide income along with crops. 

21. Explain any five characteristics of extensive commercial grain cultivation practiced in the 

world. All India 2014 

Ans. The five characteristics of extensive commercial grain cultivation are as followings: 

(i) Commercial grain cultivation is practised in the interior parts of semi-arid lands of 

the mid-latitudes. 

(ii ) Wheat is the principal crop. Through other crops the corn, Barley. Oats and rye are 

also grown. 

(iii ) The size of the farm is very large and often run into hundreds of hectares. 

(iv) This is highly mechanised agriculture in which all operations from ploughing to 

harvesting are done by machines. 

(v) Yield per acre is low, but yield per person is high because farms are mechanised 

and population is sparse. 

22. Explain any five characteristics of dairy farming practiced in the world. Delhi 2013 

Ans. The five characteristics of dairy farming practiced in the world are as follows: 

(i) This kind of agriculture is the most advanced and efficient type of rearing of milch 

animals. 
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(ii ) It requires huge investment of capital Animal sheds, strong facilities for fodder, 

feeding and mulching machines add to the cost of dairy farming. 

(iii ) Focus on health care, cattle breeding and veterinary services. 

(iv) Here, labour requirement is high as it is involved in rigorous care in feeding and 

mulching. 

(v) It is practised near urban and industrial regions because these places provide 

market for milk and dairy products. 

23. Describe any five Characteristics of the economic activities of hunting and gathering 

practiced in the world. Delhi 2012  

Ans. Characteristics of hunting and gathering practised in the world are as follows: 

(i) Gathering and hunting are the well-known oldest economic activities. These are 

carried out at different levels with different orientations. 

(ii) Gathering is practiced in region with harsh climate conditions. It often involves 

primitive societies, which extract both plants and animals for food, shelter and 

clothing. 

(iii ) The early man used stone, tools twigs or arrows, so animals were hunted in limited 

number only but now due to excessive and illegal hunting (poaching) many species 

have become extinct or endangered. 

(iv) Gathering leads to collect valuable plant leaves. Bark of trees, gatherers also plant 

the medicinal trees. After simple processing. They sell the products in the markets. 

(v) Gathering requires a small amount of capital investment and operates at a very low 

and little bit technology. 

24. Where is intensive subsistence agriculture practiced in the world? What are its two types? 

Describe any two characteristics of each types. All India 2012 

Ans. Intensive subsistence agriculture is largely found in densely populated regions of 

monsoon Asia. There are two categories practiced in the world: 

(iii ) Intensive subsistence agriculture dominated by wet paddy cultivation. 

(iv) Intensive subsistence agriculture dominated by crops other than paddy. 

Characteristics of intensive subsistence dominated by wet paddy cultivation are. 

(iii ) It is characterised by dominance of rice crop. Land holding are very small due to 

the high density of population. 

(iv) Use of machinery is limited as most of the agricultural operations are done my 

manual labour. 

Characteristics of intensive subsistence dominated by crops other than paddy are. 

(vi) Wheat, soybean, barley and sorghum are grown in Northern China 
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Manchuria. North Korea and North Japan. In India, Wheat is grown in western 

parts of the Indo-Gangetic Plains and millets are grown in dry parts of Western and 

Southern India. 

(vii ) Irrigation systems are used frequently as this type of agriculture is practiced in dry 

areas. 

 

25.  What is the importance of dairy farming? Why is it mainly practiced near urban and 

industrial centers of the world? Explain two reasons. Delhi 2011 

Ans. The importance of dairy farming is as follows: 

(i) It provides fresh milk and dairy products to us. 

(ii ) Due to its labour intensiveness, it provides employment to many people as high 

labour is involved in rigorous care in feeding and mulching. 

(iii ) It provides employment throughout the year, as there is no off season during the 

year as in  the case of crop cultivation. 

Dairy farming is mainly practiced near urban and industrial centers because of following 

reasons: 

(i)  These regions provide neighborhoods markets for fresh milk and dairy products. 

(ii)  Milk and dairy products are perishable goods and need to be transported soon, so 

to reduce the time of transportation the farms are located near urban centers. 

6. TERTIARY AND QUATERNARY ACTIVITIES  

MCQs 

1. Which among the following is not included in tertiary sector? 

a. Transport  

b. Trading 

c. Quarring  

d. Hari dresser 

 

2. Which one of the following is not example of mass media? 

a. News paper  

b. Television 

c. Telephone 

d. Magazine  

 

3. Which one of the following examples is of quaternary sector? 

a. Research and development  

b. Trading 
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c. Decision makers service 

d. Workers of high-tech Industries  

 

4. Which among the following is example of quinary sector? 

a. Policy formulators 

b. Transport 

c. Information and technology 

d. Research and development  

 

5. Which among the following sectors provides most of the employment in Delhi, Mumbai 

and Kolkata? 

a. Primary sector 

b. Secondary sector 

c. Tertiary sector 

d. Quaternary sector 

 

6. Which among the following is the example of white color job? 

a. Lawyer 

b. Farmer 

c. Industrial worker 

d. Peon 

 

7. Which one is the meaning of outsourcing? 

a. Providing employment together 

b. Establishing industry for poor 

c. Giving work to an outside agency to reduce costs  

d. None of above 

 

8. Which sector worker are called Gold collor professional?  

a. Secondary sector 

b. Primary sector 

c. Tertiary sector 

d. Quinary sector 

 

9. Which one of the following is not true? 

a. Outsourcing reduces cost and increase efficiency 

b. At times enginery and manufacturing job can also outsourced  

c. BPOs have better business opportunities  

d. There may not be dissatisfaction among job seekers in the countries that 

outsource the job 

 

10. Job of highest degree and level of innovation are known as ï 

a. Secondary sector job 
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b. Primary sector job 

c. Tertiary sector job 

d. Quinary sector job  

 

 
 
 
 

1 MARK QUESTIONS 

1. Give the meaning of digital divide Delhi 2014 

Ans. A digital divide is an economic and social inequality arising in the countries due to 

unequal access and use of knowledge or information and Communication Technologies 

(ICT) 

2. Define the term 'quaternary activities.' Delhi 2014, All India 2009 

Ans. Quaternary activities refer to the more intellectual occupations whose tast is to check 

research and develop ideas. It is concerned with high-order of professional and 

administrative services, information generation, processing and transmission. 

3. Define the term 'tertiary activities' All India 2013 

Ans. Tertiary activities are the activities related to providing services. They are different from 

production and do not process or manufacture goods directly. Professionally skilled 

people and trained labour are required in these activities, e.g. transport, communication, 

etc. 

4. Give any two examples of quaternary activities. All India 2013,12 

Ans. Examples of quaternary activities are 

 (i) Collection of information. 

 (ii) Production of information. 

5. Give the meaning of retail trading services. All india 2013,2011 

Ans. Retail trading services links the produces with consumers. It is the business activity 

concerned with the sale of goods directly to consumers, Street peddling, handcarts, trucks 

retail trading. 

6. Give any two examples of tertiary activities. Delhi 2012 

Ans. Example of tertiary activities are trade and commerce and transport. 

7. Who is an empowered worker? Delhi 2013 
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Ans. Empowered workers are people who are engaged in re0arrangemnt and interpretation and 

the use and evaluation of new technologies. They come under the category of quandary 

activities. 

 
 
 
 

8. Define the term 'tourism.' All india 2019 

Ans. Travelling with the motive of recreation rather than business is called tourism. It is a 

business of providing hotels, restaurants, entertainment, etc. for people who are travelling. 

9. Explain any three characteristics of quaternary activities. All India 2011 

Ans. The three characteristics of quaternary activities are as follows. 

(i)  Quaternary activities centre around research and development and may be seen as an 

advanced from fo services involving specialised knowledge and technical skills. 

(ii)  Quaternary activities involve the collection, production and  dissemination of 

information. 

(iii)  Like some of the tertiary functions, quaternary activities can also be outsourced. 

They are not tied to resources, affected by the environment or necessarily localised 

by markets. 

10 Explain any three characteristics of periodical markets of rural areas on the world. All 

India 2010 

Ans. The there characteristics of periodical markets of rural areas in the world are as follows. 

(i)  Periodical markets in rural areas are found where there are no regular markets. 

Local periodical markets are organised at different intervals. 

(ii)  these may be weekly. Bi-weekly markets and people from the surrounding areas 

meet their demand. 

 (iii)    These markets are held on specific days and move from one place to another. The 

shopkeepers thus, remain busy on all the days while a large area surrounding  by 

them.  

11. What are the two factors affection tourism in to world? Explain each   factor with 

example. All Inda 2010 

Ans.   The two factors affecting tourism in the world are: 
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Demand It is the prime factor for tourism. For last few centuries, the demand for 

recreational and entertainment related activities have increased significantly. The living 

of the people is being standardised and the nature of work is creating demand for tourism. 

Transport  The second important factor that affects the tourism sector is transport. The 

development in transport sector increases the demand for tourism. The easy accessibility 

to tourist locations and places encourages people to move or visit there. The expansion of 

air and rail network in the last decade has influenced tourism in increasing the number of 

tourists. Apart from this, the improvement in infrastructure as tourist spots has also 

increased demand for tourism. 

12. 'Outsourcing has resulted in opening up a large number of job opportunities in several 

countries, Analyse the statement with three suitable examples. Hots; Delhi 2009 

Ans. Out sourcing has resulted in the opening up of a large number of call centres in India, 

China, Eastern Europe, Israel, Philippines  and Costa Rica. It has created new jobs in 

these countries. Outsourcing is coming to those countries where cheap and skilled 

workers are available. These are also out-migrating countries, But with the work 

available in the form of outsourcing, the migration from these countries has come down. 

This can be explained through these examples: 

(i)  The knowledge Processing Outsourcing (KPO) Industry includes research and 

development, e-learning, business research, etc. 

(ii)   The Business Process Outsourcing (BPO) industry involves highly skilled workers. 

It is information driven knowledge outsourcing. 

(iii)  Data processing is another IT related service that employs large number of people 

in Asian countries. 

13. How does he climate of a region attract tourist? Explain with examples from different 

regions of the world. All India 2009 

Ans. The climatic conditions of any region decide the demand for tourism. The climate of a 

region attracts tourists in the following ways. 

(i) People from colder places want to visit warm places as tourist. That why the 

Mediterranean  lands and Southern Europe, due to their considerable higher 

temperature, sunny days and less rainfall attract tourists from Europe. 

(ii ) People from warmer regions love to visit colder places. That's why tourists form 

Northern plains of India prefer to go to tourist places located in the Himalayan 

region or other hill stations. 

(iii ) Climatic conditions of a region also provide some adventurous activities to do and 

attract tourists, e.g. ice skating and skiing in snowy regions, sea surfing on 

beaches, etc. 
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14. Compare the features of rural and urban marketing centers of the world in three points. 

Delhi 2008    

Ans. Comparison between the features of rural and urban marketing centers are given below. 

Basic Rural Marketing Centres Urban Marketing Centres 

Serving area They provide services to nearby 

settlements. 

The serve needs of a large area as 

Compared to rural marketing 

Centres. 

Nature of 

services 

They serve as trading centres of 

quasi urban type Personal and 

professional services are not well-

developed here. 

They provide specialised urban 

services. They provide ordinary 

goods and services as well as 

many fo the specialised goods and 

services. 

Types of 

Services 

They are local collection and 

distributing  centres. Most of these 

have mandis (wholesale markets) 

and also retailing areas. 

Urban centres offer manufactured 

goods as well as man specialised 

markets develop, e.g. markets for 

labour housing, semi or finished 

products, services of educational 

such as teachers, lawyers, 

physicians, etc. 

 

15. What is tourism? Analyse   any four tourist attractions in the world. Delhi 2016 

Or 

 Define the term tourism. Explain any four factors which attract tourists in the world. 

Delhi 2019 

Ans. Tourism is travel which is done for the purpose or recreation rather then business. It is 

one of the largest sectors of tertiary activities in terms of providing employment. It also 

generates the largest revenue. The four factors which attract tourists in the world are as 

follows: 

 Climate The climatic conditions of any region decide the demand for tourism. People 

from colder places want to visit warm places and vice versa. People from hilly terrain 

want to visit beaches and people living around sea-shore wish to visit hilly areas, e.g. the 

Mediterranean lands and Sothern Europe, due to their considerable higher temperature 

during winters attract tourists from Europe. 

 Landscape Attractive environment like mountains ,lakes, spectacular sea coasts and 

landscapes not completely altered by man are important tourist destinations. 
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 History and Art The archaeological site attracts more people because of its rich past. 

The area with historical remains like castles, forts, battle fields, palaces, religious, 

monuments, excavation sites are tourist attractions. 

 Culture and Economy For experiencing ethnic and local customs, tourists like to visit a 

place. Besides, if a region provides the needs of tourists at a cheap cost, it is likely to 

become very popular. 

 
 

16. What is medical tourism? Explain the scope of medical services for overseas patients in 

India. All India 2018 

 

Ans. When medical treatment is combined with international tourism activity, it leads itself to 

what is commonly known as medical tourism. The scope of medical tourism for overseas 

patients in India is as follows; 

(i)  In 2005] about 55,000 patients from ISA visited India for  treatment. In this way 

India has emerged as the leading country of medical tourism in the world. 

(ii)  It bring foreign currency to India. 

(iii) World class hospital with latest technology are located in   metropolitan cities of 

India. These hospitals cater to patients all over the world. 

(iv) This kind of tourism brings abundant benefits to developing countries like India. 

Therefore, medical tourism has wide scope in India. 

 

17. 'Services are very important aspect for economic development of a country.' Analyse the 

statement by explaining five components of a service sector. HOTS; Delhi 2011 

Ans. Service sector is very important for the development of economy in the world, It is related 

to all kinds of services like education, health, welfare, business services, etc. in exchange 

of payments. This sector also provides employment to a large number of people. The 

major components of services are: 

(i) Business services like advertising, legal services, public relations and counselling. 

(ii ) Finance, insurance and real estate includes banking services. 

(iii ) Wholesale and retail trading with the producers and consumers. 

(iv) Transport and communications such as railway, roadway, shipping, airline services, 

etc. 

(v) Entertainment and mass media such as television, radio, films, magazines and 

newspapers. 
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18. Cities of developed and developing countries reflect marked differences in their planning 

and development. Which values lead to development of these cities? 

Ans. The values which leads to development of these cities are: 

 (i) Patriotism   (ii) Mass-Centric policy  (iii) Democratic principles 

 
 
 
 
 

7.Human settlements  
MCQs (1  Mark) 
 

1) Which were the first million city of the world? 

a) Tokya 

b) Mumbai 

c) London 

d) Singapore 

 

2) Which of the following area does not comes under Administrative definition of urban 

settlements? 

a) Educational Town 

b) Municipal Corporation 

c) Notifies Town Area Committee 

d) Cantonment 

 

3) Who coined the word Megalopolis? 

a) Patrick Geddes 

b) Jean Gottman 

c) Ratzel 

d) Mehbub ul-haq 

 

4) In which country, population above 1500 persons is known as urban settlement? 

a) Colombia 

b) Argentina  

c) Portugal 

d) U S A 

5) Which of the following is not a Functional Town? 

a) Mining town 

b) Commercial town 

c) Transport town 

d) Municipal Corporation  

6) In which country, population above 300 persons is known as urban settlement? 
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a) Iceland 

b) Sweden, 

c) Finland 

d) Denmark 

 

7) Which among the following is not correct about urban settlements? 

a) Area having population more than 5000, and 

b) Density must be above 4000 persons per square kilometers 

c) 75% of male population should be engaged in non agricultural activities. 

d) Area having Municipality 

 

8) Who coined the word Conurbation? 

a) Patrick Geddes 

b) Jean Gottman 

c) Ratzel 

d) Mehbub ul-haq 

 

9 .World Health Organisation (WHO) suggests that, among other things, a óhealthy cityô 

must have: 

a) A ôCleanô and óSafeô environment. 

b) Meets the óBasic Needsô of óAllô its inhabitants. 

c) Involves the óCommunityô in local government. 

d) All of the above 

 

10) Who said ñ the city is in fact the physical form of the highest and most complex type of 

associative lifeò. 

a) Patrick geddes 

b) Lewis Mumford  

c) Jean Gottman 

d) Ratzel 

 

11) Who was the architect of the city Canberra? 

a) Patrick geddes 

b) Lewis Mumford 

c) Jean Gottman 

d) Walter Burley Griffin  

 

12) What is the meaning of Addis Ababa? 

a) New Plant 

b) New House 

c) New tree 

d) New Flower 
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13)Rectangular pattern of rural settlements are found in 

a) Deserts 

b) Along rivers 

c) In mountains 

d) In inter montane valleys 

 

14)Which of the following is not an example of cultural town? 

a) Mecca 

b) Varanasi 

c) Jerusalem 

d) St. Louis 

 

15)Which among the following is not an example of trading town? 

a) Lahore 

b) Baghdad 

c) St. Louis 

d) Miami  

3 Marks Questions 

1. Explain a óóHealthy Cityôô in the light of suggestions made by World Health 

Organisation. (3) 2015 

Answer: 

World Health Organisation (WHO) suggests that, among other things, a óhealthy cityô must 

have: 

1) A ôCleanô and óSafeô environment. 

2) Meets the óBasic Needsô of óAllô its inhabitants. 

3) Involves the óCommunityô in local government. 

4) Provides easily accessible óHealthô service. 

 

2. Classify the human settlements of the world into two types by their shape. Explain 

any two features of each type. (3) 2012, 2015 

Answer: 

1. A human settlement is defined as a place inhabited more or less permanently.  

2. The houses may be designed or redesigned, buildings may be altered, functions may 

change but settlement continues in time and space. 

Two types by their shape: 

1. Compact or Nucleated settlements: 

2. Dispersed Settlements: 

Features of each type: 

1. Compact settlements:  

a) These settlements are those in which large number of houses are built very 

close to each other.  

b) Such settlements develop along river valleys and in fertile plains.  

c) Communities are closely knit and share common occupations. 
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2. Dispersed Settlements:  

a) In these settlements, houses are spaced far apart and often interspersed with 

fields. 

b) A cultural feature such as a place of worship or a market, binds the 

settlement together. 

 

3. Explain with examples the ópopulation sizeô criteria used by most countries to 

define urban areas.  

OR 

óóThere is no consensus on what exactly defines a village or a town.ôô Analyse the 

statement by using different criteria. (3) 2015, 2017 

Answer: 

I. It is an important criteria used by most countries to define urban areas.  

II . The lower limit of the population size for a settlement to be designated as urban is:  

a) 1,500 in Colombia,  

b) 2,000 in Argentina and Portugal,  

c) 2,500 in U.S.A. and Thailand,  

d) 5,000 in India and  

e) 30,000 in Japan.  

f) 300 in Iceland  

g) 1,000 persons Canada and Venezuela.  

h) 250 in Denmark, Sweden and Finland 

Besides the size of population, density of 400 persons per sq km and share of non-agricultural 

workers are taken into consideration in India.  

 

4. Explain the meaning of settlements. Describe any four problems related to rural 

settlements of the world. (5) 2012 CBSE, 2015CBSE, 2019 CBSE 

Answer: 

1.  A human settlement is defined as a place inhabited more or less permanently.  

2. The houses may be designed or redesigned, buildings may be altered, functions may 

change but settlement continues in time and space. 

Problems related to rural settlements of the world: 

a) Supply of water to rural settlements in developing countries is not adequate. 

b) The general absence of toilet  

c) Garbage disposal facilities cause health related problems. 

d) Un-metalled roads and  

e) Lack of modern communication network  

 

5. Explain any five major problems related to urban settlements in the developing 

countries of the world. (5) 2011 CBSE 2014 CBSE, 2019 CBSE. 

Answer:  

Economic Problems 
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a) The decreasing employment opportunities in the rural as well as small urban areas of 

the developing countries consistently push the population to the urban areas.  

b) The enormous migrant population generates a pool of un- skilled and semi-skilled 

labour force, which is already saturated in urban areas.  

Socio-cultural Problems  

a) Cities in the developing countries suffer from several social ills.  

b) Insufficient financial resources fail to create adequate social infrastructure catering to 

the basic needs of the huge population.  

c) The available educational and health facilities remain beyond the reach of the urban 

poor.  

d) Health indices also, present a gloomy picture in cities of developing countries.  

e) Lack of employment and education tends to aggravate the crime rates.  

f) Male selective migration to the urban areas distorts the sex ratio in these cities. 

Environmental Problems 

a) The large urban population in developing countries not only uses but also disposes off 

a huge quantity of water and all types of waste materials.  

b) Many cities of the developing countries even find it extremely difficult to provide the 

minimum required quantity of potable water and water for domestic and industrial 

uses. An improper sewerage system creates unhealthy conditions.  

c) Massive use of traditional fuel in the domestic as well as the industrial sector severely 

pollutes the air.  

d) The domestic and industrial wastes are either let into the general sewerages or 

dumped without treatment at unspecified locations.  

e) Huge concrete structures erected to accommodate the population and economic play a 

very conducive role to create heat islands. 

 

 

6. Describe any five patterns of rural settlements in the world on the basis of forms or 

shapes. (5) 2014 2017 

Answer:  

I. Linear pattern:  

a) In such settlements houses are located along a road, railway line, river, canal edge 

of a valley or along a levee. 

II . Rectangular pattern:  

a) Such patterns of rural settlements are found in plain areas or wide inter montane 

valleys.  

b) The roads are rectangular and cut each other at right angles. 

III . Circular pattern:  

a) Circular villages develop around lakes, tanks 

b) Sometimes the village is planned in such a way that the central part remains open 

and is used for keeping the animals to protect them from wild animals. 

IV. Star like pattern:  
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a) Where several roads converge, star shaped settlements develop by the houses built 

along the roads. 

V. T-shaped settlements develop at tri-junctions of the roads  

VI . Yïshaped settlements: They emerge at the places where two roads converge on the 

third one and houses are built along these roads. 

VII . Cruciform settlements: Develop on the cross-roads and houses extend in all the four 

direction.  

VIII . Double village: These settlements extend on both sides of a river where there is a 

bridge or a ferry. 

 

7. Describe any five urban strategies as outlined by the óUnited Nations Development 

Programmeô. (5) 2019 supplementary 

Answer: 

The (UNDP) has outlined these priorities as part of its óUrban Strategyô: 

1) Increasing óShelterô for the urban poor. 

2) Provision of basic urban services such as 

a) óEducationô,  

b) óPrimary Health careô,  

c) óClean Water and Sanitationô. 

3) Improving womenôs access to óBasic Servicesô and government facilities. 

4) Upgrading óEnergyô use and alternative óTransportô systems. 

5) Reducing óAir Pollutionô. 

 

8. Define settlements? What are the major factors affecting location of rural 

settlements? (5) 

Answer: 

1. A human settlement is defined as a place inhabited more or less permanently.  

2. The houses may be designed or redesigned, buildings may be altered, functions may 

change but settlement continues in time and space. 

Major factors affecting location of rural settlements are: 

I . Water Supply 

a) Usually rural settlements are located near water bodies such as rivers, lakes, and 

springs where water can be easily obtained.  

b) Sometimes the need for water drives people to settle in otherwise disadvantaged sites 

such as islands surrounded by swamps or low lying river banks.  

c) Most water based ówet pointô settlements have many advantages such as water for 
drinking, cooking and washing.  

d) Rivers and lakes can be used to irrigate farm land.  

e) Water bodies also have fish which can be caught for diet and navigable rivers and 

lakes can be used for transportation. 

II . Land 

a) People choose to settle near fertile lands suitable for agriculture.  
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b) In Europe villages grew up near rolling country avoiding swampy, low lying land 

while  

c) People in south east Asia chose to live near low lying river valleys and coastal plains 

suited for wet rice cultivation.  

d) Early settlers chose plain areas with fertile soils. 

III . Upland 

a) Upland which is not prone to flooding was chosen to prevent damage to houses and 

loss of life.  

b) Thus, in low lying river basins people chose to settle on terraces and levees which 

areñdry pointsò.  

c) In tropical countries people build their houses on stilts near marshy lands to protect 

themselves from flood, insects and animal pests. 

IV . Building Material  

a) The availability of building materials- wood, stone near settlements is another 

advantage.  

b) Early villages were built in forest clearings where wood was plentiful. 

V. Defence 

a) During the times of political instability, war, hostility of neighbouring groups villages 

were built on defensive hills and islands.  

b) In Nigeria, upstanding inselbergs formed good defensive sites.  

c) In India most of the forts are located on higher grounds or hills. 

VI . Planned Settlements 

a) Planned settlements are constructed by governments by providing shelter, water and 

other infrastructures on acquired lands.  

b) The scheme of villagisation in Ethiopia and  

c) The canal colonies in Indira Gandhi canal command area in India are some good 

examples. 

 

9) Define urban settlements? Classify urban settlements on the basis of size and the 

services available and   function rendered by them. (5) 2015  CBSE. 

Answer: 

Town 

a) The concept of ótownô can best be understood with reference to óvillageô. 

b) Population size is not the only criterion.  

c) Functional contrasts between towns and villages may not always be clear- cut, but  

d) Specific functions such as, manufacturing, retail and wholesale trade, and professional 

services exist in towns. 

City  

a) A city may be regarded as a leading town, which has outstripped its local or regional 

rivals.  

b) In the words of Lewis Mumford, ñ the city is in fact the physical form of the highest 
and most complex type of associative lifeò.  

c) Cities are much larger than towns and have a greater number of economic functions.  
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d) They tend to have:  

1. Transport terminals,  

2. Major financial institutions and  

3. Regional administrative offices.  

e) When the population crosses the one million mark it is designated as a million city. 

Conurbation 

a) The term conurbation was coined by Patrick Geddes in 1915 

b) Conurbation means a large area of urban development that resulted from the merging 

of originally separate towns or cities.   

c) Greater London, Manchester, Chicago and Tokyo are examples.  

Megalopolis 

a) This Greek word meaning ñgreat cityò, was popularised by Jean Gottman (1957). 

b) Megalopolis signifies ósuper- metropolitanô region extending, as union of 

conurbations.  

c) The urban landscape stretching from Boston in the north to south of Washington in 

U.S.A. is the best known example of a megalopolis. 

Million City  

a) London reached the million mark in 1800, followed by Paris in 1850, New York in 

1860, and by 1950 there were around 80 such cities.  

The rate of increase in the number of million cities has been three-fold in every three 

decades ï around 160 in 1975 
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Geography Book -2  

 

1. DISTRIBUTION AND DENSITY OF POPULATION  

1. Which among the following state having highest population density? 

a) Up 

b) Bihar 

c) West Bengal 

d) Kerala 

2. Which among the following state having lowest population density? 

a) Arunachal Pradesh 

b) Sikkim 

c) Nagaland 

d) Manipur 

3. What is the density of population in India according to census 2011? 

a) 283 

b) 343  

c) 382 

d) 482 

4. What is physiological density: 

a) Total population on total land 

b) Total population on net cultivable land 

c) Total agricultural population on net cultivable area 

d) None of the above 

5. What is the doubling time of population of India according to 2.4% growth of 

population? 

a) 34 years 

b) 35 years 

c) 36 years 

d) 33 years 

6. Which state of India registered negative population growth? 

a) Sikkim 

b) Nagaland 
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c) Manipur 

d) Mizoram 

 

7. In which duration, India recorded negative growth rate. 

a) 1901-1911 

b) 1921-1931 

c) 1911-1921 

d) 1921-1931 

 

 

8.        Which phase is known as mortality phase? 

a) Phase I 

b) Phase II 

c) Phase III 

d) Phase IV 

9. Which phase is known as Fertility phase? 

a) Phase I 

b) Phase II 

c) Phase III 

d) Phase IV 

 

10. Which phase is known as population explosion phase? 

a) Phase I 

b) Phase II 

c) Phase III 

d) Phase IV 

11.  In which year national youth policy of government of India was launched? 

a) 2002 

b) 2003 

c) 2004 

d) 2001 

12.  Indiaôs éé population lives in villages according to census 2011? 

a) 68% 

b) 58% 

c) 65% 

d) 74% 

13. Indiaôs éé population lives in urban areas according to census 2011? 

a) 30% 

b) 32% 

c) 35% 

d) 28% 

14.  Which state of India having highest proportion of population living in rural areas? 

a) Himachal 
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b) Arunachal 

c) Maharashtra 

d) Rajasthan 

15.  Which state of India having highest proportion of population living in urban 

areas? 

a) Goa 

b) Arunachal 

c) Maharashtra 

d) Rajasthan 

16.  Which among the following is the smallest language group/ 

a) Kashmiri 

b) Sanskrit 

c) Both a) and b) 

d) None of  the above 

17.  Who is known as main worker? 

a) Who works for at least 183 days in a year. 

b) Who works for less than 183 days in a year. 

c) Both a) and b) 

d) None of the above 

18.  Which of the following is not an occupational category? 

a) Cultivators 

b) Agricultural labourer 

c) House hold industrial workers 

d) Mining  

5 Marks Questions 

2. óóIndia is a land of linguistic diversity.ôô Support the statement. (5) 2019 CBSE. 

Answer:- 

f) 8
TH

 schedule of India contains 22 scheduled language 

g) 343 to 351 article are related to languages 

h) According to Grierson (Linguistic Survey of India, 1903 ï1928) there were 179 

languages and as many as 544 dialects in the country 

i) Among the scheduled languages, the speakers of Hindi have the highest percentage 

(40.42).  
j) The smallest language groups are Kashmiri and Sanskrit speakers (0.01 per cent each).  

CLASSIFICATION OF MODERN INDIAN LANGUAGES 

 
FAMILY  SUB FAMILY BRANCH/GROUP SPEECH AREA 

AUSTRIC/ 

(NISHAD ) 

1.38 % 

AUSTRO 

ASIATIC 

MON KHMER MEGHALAYA, NICOBAR ISLAND  

MUNDA WB, BIHAR, ODISHA, ASSAM, MP, MH, 

AUSTRO 

NESIAN  
OUTSIDE INDIA 
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DRAVIDIAN/ 

(DRAVIDA) 

20% 

 

SOUTH DRA. TAMILNADU, KARNATAKA, KERALA  

CENTRAL DRA. ANDHRA PRADESH, MP, ODISHA, MH 

NORTH DRA. BIHAR, ODISHA, WB, MP 

SINO 

TIBETAN 

(KIRATA) 

0.58% 

TIBETO 

MYANMARI  

TIBETO 

HIMALAYAN  
J&K, HP, SIKKIM 

NORTH ASSAM ARUNACHAL PRADESH 

SIAMESE 

CHINESE 

ASSAM 

MYANMARI  

ASSAM, NAGALAND, MANIPUR, MIZORAM, 

TRIPURA, MEGHALYA 

INDO 

EUROPEAN/ 

(ARYAN) 

73% 

INDO 

ARYAN 

INDO ARYAN 
J&K, HP, UK, PH, HR, RJ, GJ, MH, GOA, MP UP 

WB, BIHAR, ASSAM 

DARDIC: J&K 

IRANIAN  OUTSIDE INDIA 

 

 

 

 

3. Define growth of population? What are the major phases of Indian population? (5) 

2012 CBSE, 2014 CBSE, 2015 CBSE, 2016, 2019 CBSE. 

OR 

óóThe period from 1951 to 1981 is referred to as a phase of population explosion in 

India.ôô Substantiate the statement. 

ANSWER:- 

a) Change in population within two time period in an area is known as population growth. 

b) Growth of population may be positive or may be negative. 

Major phases of Indian population are: 

Phase I :  

a) The period from 1901-1921 is referred to as a period of stagnant or stationary phase 

of growth of Indiaôs population. 

b) In this period growth rate was very low, even recording a negative growth rate during 

1911-1921.  

c) Both the birth rate and death rate were high keeping the rate of increase low.  

d) Factors responsible for a high birth and death rates in this period are: 

¶ Poor health and medical services,  

¶ Illiteracy of people at large and  

¶ Inefficient distribution system of food and  

¶ Lacks of other basic necessities were largely  

Phase II :  

a) The decades 1921-1951 are referred to as the period of steady population growth.  
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b) Factors responsible for steady growth of population: 

c) An overall improvement in health and sanitation  

d) At the same time better transport and Communication system 

e) Improved distribution system of food.  

f) The crude birth rate remained high in this period leading to higher growth rate than 

the previous phase.  

g) This is impressive at the backdrop of Great Economic Depression, 1920s and World 

War II. 

 

Phase III :  

a) The decades 1951-1981 are referred to as the period of population explosion in India,  

b) Population explosion was caused by a rapid fall in the mortality rate but a high 

fertility rate of population in the country.  

c) The average annual growth rate was as high as 2.2 per cent.  

d) It is in this period, after the Independence, that developmental activities were 

introduced through a centralised planning process and economy started showing up 

ensuring the improvement of living condition of people at large.  

e) Consequently, there was a high natural increase and higher growth rate.  

f) Besides, increased international migration bringing in Tibetans, Bangladeshis, 

Nepalies and even people from Pakistan contributed to the high growth rate. 

Phase IV : 

a) In the post 1981 till present,  

b) the growth rate of countryôs population though remained high, has started slowing 

down gradually.   

c) A downward trend of crude birth rate is held responsible for such a population 

growth.  

d) This was, in turn, affected by an increase in the mean age at marriage,  

e) Improved quality of life particularly education of females in the country. 

 

4. Identify the challenges of the adolescent population before the society. Enlist a few 

measures to overcome these problems. (5) 2019 CBSE 

Answer: 

Challenges of the adolescent population are: 

a) Lower age at marriage,  

b) Illiteracy ï particularly female illiteracy,  

c) School dropouts,  

d) Low intake of nutrients,  

e) High rate of maternal mortality of adolescent mothers,  

f) High rates of HIV/AIDS infections,  

g) Physical and mental disability or retardedness,  

h) Drug abuse  

i) Alcoholism,  

j) Juvenile delinquency and  
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k) Commitence  of crimes, etc. 

Measures to overcome these problems 

a) To impart proper education to the adolescent 

b) The National Youth Policy is one example which has been designed to look 

into the overall development of our large youth and adolescent population. 

c) National skill program for young population. 

 

5. What is density of population? Describe the spatial variation of population density 

in India. (5) 2014, 2015, 2017 CBSE. 

ANSWER: 

Number of persons living per square kilometres in an area is known as density of 

population. (382, 2011, India). 

 

Spatial variation of   population density 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Source: census of India, 2011. 

I. Area of very high density:  
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(Above 600 persons) UTôs except Andaman and Niocbar, Bihar, WB, UP, Kerala. 

II . Area of high density:  
(From 400 to 600 persons Tamilnadu, Punjab, Haryana, Jharkhand 

III . Area of moderate density:  
(From 200 to 400 persons) GJ, MH, MP, Karnataka, AP, Assam,  Tripura. 

IV . Area of low density:  

(Less than 200 persons) J&K, HP, CG, UK, Arunachal, Meghalya , Manipur, 

Nagaland. 

6. How are physical and economic factors responsible for uneven distribution and 

density of population in India? Explain with examples.  (5) 2017 CBSE. 

ANSWER: 

How population is spaced on the surface of earth is known as population distribution. 

Factors responsible for uneven distribution and density of population in India are: 

i. Physical Factors: 

a) Availability of water: Great plain of India (high density) 

b) Climate: Himalayan states (low density) Kerala and Tamilnadu (Marine climate, 

high density) 

c) Soil: Great plain of India, Industrial region (high density) 

d) Relief: Himalayan states (low density) 

ii . Economic Factors: 

a) Minerals  (Chhota Nagpur plateau) 

b) Urbanisation (Megacities and metropolitan cities) 

c) Industrialisation  ( Chhota Nagpur plateau,  

iii . Historical factors:  (Mumbai,  Chennai, Kolkata) 

iv. Religious factors: (Varanasi, Madurai) 

v. Government:  

7. Explain any three characteristics each of rural and urban composition of 

population in India. (3) 2019 CBSE. 

Answer- 

A. Urban area: 

a) Population is engaged in non agricultural activities. 

b) Total urban population of India is 31.16% (2011). 

c) Sex ratio of urban areas was 926 females per 1000 males (2011) 

d) Literacy if urban areas was 89.7% according to census  2011 

e) Maharashtra is the highest urbanised state of India 

f) Himachal Pradesh is the lowest urbanised state of India. 

g) The Union Territories, on the other hand, have smaller proportion of rural 

population, except Dadra and Nagar Haveli (77.1 per cent) 

B. Rural areas: 

a) Population  is engaged in agricultural  activities 

b) Total rural population of India were 68.84% (2011) 

c) Sex ratio of Rural areas was 947 females per 1000 males (2011) 

d) Literacy of urban areas was 78.6 according to census  2011 
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e) Himachal is the state whose large proportion of population is living in rural areas. 

f) The states of Goa and Maharashtra have only little over half of their total 

population residing in villages. 

 

Migration: Types, Causes and Consequences 

1. Which among the following is not a migration stream? 

a) Rural to Rural 

b) Rural to Urban 

c) Urban to Rural 

d) Rural to Village 

2. Which state receive maximum number of immigrants? 

a) Maharashtra 

b) UP 

c) Bihar 

d) Punjab 

3. Which state having highest number of emigrants? 

a) Maharashtra 

b) UP 

c) Bihar 

d) Punjab 

4. Which among the following is not a push factor? 

a) Harsh climate 

b) Lack of medical facility  

c) Poverty 

d) Employment  

 

5. Which one of the following streams is dominated by male migrants in India? 

a) Rural-Rural  

b) Rural -Urban 

c) Urban-Rural  

d) Urban-Urban 

6. Which one of the following streams is dominated by female migrants in India? 

a) Rural -Rural  

b) Rural-Urban 

c) Urban-Rural  

d) Urban-Urban 

7. Which one of the following urban agglomeration has the highest share of in migrant 

population? 

a) Mumbai UA  

b) Bangalore UA 

c) Delhi UA  

d) Chennai UA 
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8. Which one of the following is the main reason for male migration in India? 

a) Education  

b) Work and employment 

c) Business  

d) Marriage 

 

9. Which one of the following is the main reason for male migration in India? 

a) Education  

b) Work and employment 

c) Business  

d) Marriage 

10.  India received highest number of immigrants from which country according to census 

2001? 

a) Pakistan 

b) Bhutan 

c) Nepal 

d) Sri Lanka 

 

3 Marks Questions 

 

1. Why do people migrate? State the four streams of migration in India. (3) 2012, 2017 

CBSE. 

Movement of people from one place to another place is known as migration. 

People migrate from one place to another due to: 

a) Health facilities 

b) Education facilities 

c) Basic facilities etc. 

Four streams of migration in India are:  

a) Rural to Rural (Social purpose,) 

b) Rural to Urban (Economic purpose) 

c) Urban to Rural (Environmental condition, developed nation) 

d) Urban to Urban (Better Employment opportunity) 

 

2. Explain any three 'push factors' which compel the people to migrate from one area 

to another area in India. (3) 2013, 2015, 2016 CBSE. 

Push factors responsible for migration are: 

a) Unemployment 

b) Limited or poor educational facility 

c) Low wages 

d) Lack of medical facilities 

e) Wars 

f) Poor infrastructure 

g) Poverty 
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h) Crime  

i) Lack of technology 

j) Harsh climate 

k) Poor living standard 

l) Poor safety and security 

m) Crop failure/ infertile land. 

 

 

3. How are ópull factorsô responsible for migration of people from one place to another 

in India? Explain with examples. (3) 2013, 2015, 2016 CBSE. 

Answer: 

Pull factors responsible for migration of people from one place to another are: 

a) Educational facility: Delhi 

b) Medical facility: capital cities of the states 

c) Employment: Mumbai 

d) Basic facilities: Chandigarh 

e) Good climate: Bangalore 

f) Political stability 

g) Better living standard: metropolitan cities of the country. 

 

 

4. Explain why the causes of male and female migration are different in India. Explain 

the social and environmental consequences of migration in India. (5) 2019 CBSE. 

I. Male migration:  

a) Economic purpose: Employment  

II . Female migration 

a) Social purpose: Marriage 

Environmental Consequences are: 

1. Overcrowding of people due to rural-urban migration has put pressure on the existing 

social and physical infrastructure in the urban areas. 

2. This ultimately leads to unplanned growth of urban settlement and  

3. Formation of slums shanty colonies.  

4. Apart from this, due to over-exploitation of natural resources,  Cities are facing the 

acute problems of: 

5. Depletion of ground water,  

6. Air pollution,  

7. Disposal of sewage and  

8. Management of solid wastes.  

5. ñMigration creates both benefits and problems for the areas people migrate from 
and migrate to.ò Substantiate the statement.  (5) (2016)                  OR 

Examine the consequences of migration in India. (5) (2019) 

OR 
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Define the term 'migration'. Explain the social and environmental consequences of 

migration in India. (5) (2014) 

OR 

Examine the economic and social consequences of migration in India. (5) (2014, 2015, 

2016) 
 
 

Answer: 

1. Migration is a response to the uneven distribution of opportunities over space.  

2. People tend to move from place of low opportunity and low safety to the place of higher 

opportunity and better safety.  

3. This, in turn, creates both benefits and problems for the areas; people migrate from and 

migrate to. 

4.  Consequences can be observed in economic, social, cultural, political and demographic 

terms 

Economic Consequences 

1. A major benefit for the source region is the remittance sent by migrants. 

2. Remittances from the international migrants are one of the major sources of foreign 

exchange.  

3. In 2002, India received US$ 11 billion as remittances from international migrants.  

4. Punjab, Kerala and Tamil Nadu receive very significant amount from their international 

migrants.  

5. The amount of remittances sent by the internal migrants is very meagre as compared to 

international migrants, but it plays an important role in the growth of economy of the 

source area. 

6. Remittances are mainly used for food, repayment of debts, treatment, marriages, 

childrenôs education, agricultural inputs, construction of houses, etc.  

7. For thousands of the poor villages of Bihar, Uttar Pradesh, Orissa, Andhra Pradesh, etc. 

remittance works as life blood for their economy.  

8. Migration from rural areas of Eastern Uttar Pradesh, Bihar, Madhya Pradesh and Orissa 

to the rural areas of Punjab, Haryana, and Western Uttar Pradesh accounted for the 

success of their green revolution strategy for agricultural development.  

9. Besides this, unregulated migration to the metropolitan cities of India has caused 

overcrowding.  

10.  Development of slums in industrially developed states such as Maharashtra, Gujarat, 

Karnataka, Tamil Nadu and Delhi is a negative consequence of unregulated migration 

within the country. 

11. The amount of remittances sent by the internal migrants is very meagre as compared to 

international migrants, but it plays an important role in the growth of economy of the 

source area. 

12. Remittances are mainly used for food, repayment of debts, treatment, marriages, 

childrenôs education, agricultural inputs, construction of houses, etc.  
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13. For thousands of the poor villages of Bihar, Uttar Pradesh, Orissa, Andhra Pradesh, 

Himachal Pradesh, etc. remittance works as life blood for their economy.  

14. Migration from rural areas of Eastern Uttar Pradesh, Bihar, Madhya Pradesh and Orissa 

to the rural areas of Punjab, Haryana, and Western Uttar Pradesh accounted for the 

success of their green revolution strategy for agricultural development.  

15. Besides this, unregulated migration to the metropolitan cities of India has caused 

overcrowding.  

16. Development of slums in industrially developed states such as Maharashtra, Gujarat, 

Karnataka, Tamil Nadu and Delhi is a negative consequence of unregulated migration 

within the country. 

Demographic Consequences: 

1. Migration leads to the redistribution of the population within a country.  

2. Rural urban migration is one of the important factors contributing to the population 

growth of cities.  

3. Age and skill selective out migration from the rural area have adverse effect on the 

rural demographic structure.  

4. However, high out migration from Uttaranchal, Rajasthan, Madhya Pradesh and 

Eastern Maharashtra have brought serious imbalances in age and sex composition in 

these states.  

5. Similar imbalances are also brought in the recipients states. 

6.  What is the cause of imbalance in sex ratio in the place of origin and destination of the 

migrants? 

Social Consequences: 

1. Migrants act as agents of social change.  

2. The new ideas related to new technologies, family planning, girlôs education, etc. get 

diffused from urban to rural areas through them.  

3. Migration leads to intermixing of people from diverse cultures.  

4. It has positive contribution such as: 

I. Evolution of composite culture  

II . Breaking through the narrow considerations and  

III . Widens up the mental horizon of the people at large.  

1. But it also has serious negative consequences such as anonymity, which creates social 

vacuum and sense of dejection among individuals.  

2. Continued feeling of dejection may motivate people to fall in the trap of anti-social 

activities like crime and drug abuse.  

Environmental Consequences: 

¶ Overcrowding of people due to rural-urban migration has put pressure on the existing 

social and physical infrastructure in the urban areas. 

¶ This ultimately leads to unplanned growth of urban settlement and  

¶ Formation of slums shanty colonies.  

¶ Apart from this, due to over-exploitation of natural resources,  Cities are facing the 

acute problems of: 

¶ Depletion of ground water,  
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¶ Air pollution,  

¶ Disposal of sewage and  

¶ Management of solid wastes.  

 
 
 
 

Others: 

1. Migration affects the status of women directly or indirectly.  

2. In the rural areas, male selective out migration leaving their wives behind puts extra 

physical as well mental pressure on the women. 

3.  Migration of ówomenô either for education or employment enhances their autonomy 

and role in the economy but also increases their vulnerability.  

4. If remittances are the major benefits of migration from the point of view of the source 

region, the loss of human resources particularly highly skilled people is the most 

serious cost.  

                      3. Human Development (India People and Economy) 

Long Answer Types of Questions  

1. Which factors have caused spatial variations in the levels of Human Development among 

the states in India? Explain in detail. 

     Answer-  

There are several socio-political, educational, economic and health etc reasons for the 

spatial variations in the level of human development among the states in India.  

¶ The percentage of persons below the poverty line in 2011-12 has been 

estimated as 25.7% in rural areas, 13.7% in urban areas and 21.9% for the 

country as a whole.  

¶ Chhattisgarh, Jharkhand, Manipur, Arunachal Pradesh, Assam, Bihar, 

Jharkhand, Madhya Pradesh, Manipur and Odisha, Dadra and Nagar Haveli 

which have recorded more than 30 per cent of their population living below the 

poverty line.  

¶ Gujarat, Haryana, Jammu and Kashmir, Maharashtra, Meghalaya, Nagaland 

Rajasthan, Tamil Nadu, Tripura, Uttarakhand and West-Bengal have recorded 

between 10 to 20 per cent of their population below poverty line.  

¶ Andhra Pradesh, Delhi, Goa, Himachal Pradesh, Kerala, Punjab, Sikkim, 

Puducherry, Andaman and Nicobar Islands, Daman and Diu, Lakshadweep 

have below 10 per cent of their population living below poverty line.  

¶ The child sex ratio has declined in all the states except Kerala. The condition is 

most alarming in the Panjab and Haryana where it is below than 850. 
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¶ There are wide regional disparities in literacy rate across the states of India. 

There is a state like Bihar which has very low (63.82%) literacy and there are 

states like Kerala and Mizoram which have literacy rates of 93.91% and 

91.58% respectively. 

2.  ñDevelopment must be woven around people, not the people around developmentò support this 
statement in your words.  

Answer-  

¶ Definitely Development must be woven around people, not the people around 

development. Development must be for people so people are in the centre not the 

people for the development means development should not be in the centre.  

¶ For the development of the people many important things are required as the 

definition of Human Development proves ï 

¶ ñHuman development is a process of enlarging the range of peopleôs choices, 
increasing their opportunities for education, health care, income and empowerment 

and covering the full range of human choices from a sound physical environment 

to economic, social and political freedom.ò it includes 

o Enlarging the ranges of peopleôs choices 

o Opportunities of education, health care and income 

o Empowerment  

o Economic, social and political freedom 

 

3. What are various indicators used for preparing HDI? Briefly explain.  

Answer-  

¶ There are three main indicators which are Economic attainments (measured by Per 

capita Income), Healthy life (measured by Life Expectancy) and Social 

Empowerment (measured by Literacy Rate). 

¶ Economic attainment and the well-being of individuals depend on economic 

growth, employment opportunities and access to assets. Over the years the per 

capita income and consumption expenditure in India has increased. 

¶ The percentage of persons below the poverty line in 2011-12 has been estimated as 

25.7% in rural areas, 13.7% in urban areas and 21.9% for the country as a whole.  

¶ India has done reasonably well in some of the health indicators like decline in 

death rate from 25.1 per thousand in 1951 to 6.5 per thousand in 2015 and infant 

mortality from 148 per thousand to 37 during the same period life expectancy at 

birth from 37.1 years to 66.9 years for males and 36.2 to 70 years for females from 

1951 to 2015 has also increased.   

¶ Birth rate from 40.8 to 20.8 during the same years, but it still is much higher than 

many developed countries.  

¶ Overall literacy in India is approximately 74.04% (2011). while female literacy is 

65.46%.  

4. Explain the regional disparities of Human Development in India.  

Answer-  
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¶ India has been placed among the countries showing medium human development. 

The Rank of India in HDI is 130 (HDI value 0.640) among the 188 countries of the 

world.  

¶ Kerala with the composite index value of 0.790 is placed at the top rank followed 

by Delhi, Himachal Pradesh, Goa and Punjab. As expected, states like Bihar, 

Odisha and Chhattisgarh are at the bottom among the 23 major states in India. 

¶ Kerala is able to record the highest value in the HDI largely due to its impressive 

performance in achieving near hundred per cent literacy with less gaps between 

the male and female literacy rates but different scenario is found in the states like 

Bihar, Madhya Pradesh, Odisha, Assam and Uttar Pradesh have very low literacy.  

¶ The levels of economic development too play significant impacts on HDI. 

Economically developed states like Maharashtra, Tamil Nadu and Punjab and 

Haryana have higher value of HDI as compared to states like Chhattisgarh, Bihar, 

Madhya Pradesh, etc.  

¶ The government has made significant achievements in most of the fields but, these 

are still below the desired level. 

Short Answer Types of Questions  

5. Define human development and explain it.  

Answer-  

¶ ñHuman development is a process of enlarging the range of peopleôs choices, 

increasing their opportunities for education, health care, income and 

empowerment and covering the full range of human choices from a sound 

physical environment to economic, social  and political freedom.ò it includes -  

o Enlarging the ranges of peopleôs choices 

o Opportunities of education, health care and income 

o Empowerment  
o Economic, social and political freedom  

6. ñDevelopment is freedomò. Justify this statement.  

Answer-  

¶ Definitely Development is freedom  

¶ Freedom from hunger, poverty, servitude, bondage, ignorance, illiteracy and any 

other forms of domination is the key to human development.  

¶ Freedom in real sense of the term is possible only with the empowerment and 

participation of the people in the exercise of their capabilities and choices in the 

society 

7. What are various objectives of Swachchha Bharat Mission? 

Answer-  

¶ Swachchha Bharat Mission has been initiated by Government of India. Its 

objectives are-  

¶ Scientific management of municipal solid waste, individual latrines, community 

toilets and public toilets.  
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¶ Supply of clean energy as LPG to rural India.  

¶ Providing potable water to every households. 

¶ Promoting use of Non-Conventional energy.  

8. Briefly explain about the poverty condition in India. 

Answer-  

¶ The percentage of persons below the poverty line in 2011-12 has been estimated as 

25.7% in rural areas, 13.7% in urban areas and 21.9% for the country as a whole.  

¶ Chhattisgarh, Jharkhand, Manipur, Arunachal Pradesh, Assam, Bihar, Jharkhand, 

Madhya Pradesh, Manipur and Odisha, Dadra and Nagar Haveli which have 

recorded more than 30 per cent of their population living below the poverty line.  

¶ Gujarat, Haryana, Jammu and Kashmir, Maharashtra, Meghalaya, Nagaland 

Rajasthan, Tamil Nadu, Tripura, Uttarakhand and West-Bengal have recorded 

between 10 to 20 per cent of their population below poverty line.  

¶ Andhra Pradesh, Delhi, Goa, Himachal Pradesh, Kerala, Punjab, Sikkim, 

Puducherry, Andaman and Nicobar Islands, Daman and Diu, Lakshadweep have 

below 10 per cent of their population living below poverty line.  

9. Explain about the indicators of a Healthy life. 

Answer-  

¶ Life free from illness and living a reasonably long life span are indicative of a 

healthy life.  

¶ India has done reasonably well in some of the health indicators like decline in 

death rate from 25.1 per thousand in 1951 to 6.5 per thousand in 2015 and infant 

mortality from 148 per thousand to 37 during the same period life expectancy at 

birth from 37.1 years to 66.9 years for males and 36.2 to 70 years for females from 

1951 to 2015 has also increased.   

¶ Birth rate from 40.8 to 20.8 during the same years, but it still is much higher than 

many developed countries.  

¶ India has recorded declining female sex ratio. The findings of 2011 Census of 

India are very disturbing particularly in case of child sex ratio in the age group of 

0-6 years.  The child sex ratio has declined in all the states except Kerala. The 

condition is most alarming in the Panjab and Haryana where it is below than 850.  

10. Mention any three reasons for low levels of Human development in most of the Northern 

States of India. 

Answer-  

¶ In the northern States of India, generally have less score in HDI because  

¶ Per capita income is lesser because of poverty, unemployment and largely depend 

on agriculture.  

¶ Medical condition is not up to the mark because of high density of population and 

government has to focus in this regard but still more governmentôs effort is 

required.  

¶ Illiteracy is also very important for low level of human development. Many states 

are there where female literacy rate is very less. Such as Bihar.  
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Multiple Choice Questions (MCQs) 

11. Which one among the following is also called Brundtland Commissionôs Report? 

a- Small is beautiful 

b- Agenda 21 

c- Our Common future 

d- Limits to growth 

12. Who was the first person that voice his concern about the growing scarcity of resources 

as compared to the Human Development?  

a- Sir Robert Malthus 

b- Sir David Anderson 

c- Schumacher 

d- Griffith Taylor  

13. What is composite human development index value and index of India? 

a- .690 and 121
st
  

b- .640 and 130
th

  

c- .610 and 128
th
  

d- .590 and 125
th
  

14. Which one among the following is not objective of Swachchha Bharat Mission?  

a- Supply of clean energy as LPG to rural India 

b- Providing potable water to every households 

c- Promoting use of Conventional energy 

d- Scientific management of municipal solid waste 

15. What is literacy rate and female literacy rate of India according to 2011? 

a- 71.04% and 61.46% 

b- 72.04% and 62.46% 

c- 79.04% and 69. 46% 

d- 74.04% and 65.46% 

16. The child sex ratio (0-6 years age) is most alarming in which group of states? 

a- Punjab and Tamil Nadu 

b- Uttar Pradesh and Kerala 

c- Punjab and Haryana 

d- Gujarat and Manipur 

17. What is infant Mortality rate of India according to 2015? 

a- 27  

b- 37 

c- 47 

d- 57 

18. What is the percentage of poverty in India according to 2011-12? 

a- 15.7% 

b- 20.7% 

c- 25.7% 

d- 30.7% 
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19. Which one from the following organization is responsible for preparing HDI of Indian 

States? 

a- NITI Ayog  

b- Census of India  

c- State Government 

d- Gram Panchayat 

20. Which one form the following is not included in Human Development Index? 

a- Health (Life Expectancy) 

b- Education (Literacy Rate) 

c- Per capita income ($) 

d- Infant Mortality Rate 

4. Human Settlement (India People and Economy) 

Long Answer type of Questions  

1. Discuss the features of different types of rural settlements.  

Answer-  

Clustered settlements 

¶ Such settlements are generally found in fertile alluvial plains and in the 

northeastern states.  

¶ Sometimes, people live in compact village for security or defence reasons, such as 

in the Bundelkhand region of central India and in Nagaland. 

Semi-clustered Settlements  

¶ In this case, one or more sections of the village society choose or is forced to live a 

little away from the main cluster or village. 

¶ Generally found in Gujarat plains and some part of Rajasthan, where land owning 

and dominant community occupies the central part of the village and lower strata 

of society settle on the outer flanks of the village.  

Hamleted Settlements 

¶ Sometimes settlement is fragmented into several units physically separated from 

each other bearing a common name.  

¶ These units are locally called panna, para, palli, nagla, dhani, etc. 

¶ Such villages are more frequently found in the middle and lower Ganga plain, 

Chhattisgarh and lower valleys of the Himalayas. 

Dispersed Settlements  

¶ Found in the form of isolated huts or hamlets of few huts in remote jungles, or on 

small hills with farms or pasture on the slope.  
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¶ Many areas of Meghalaya, Uttarakhand, Himachal Pradesh and Kerala have this 

type of settlement. 

2. Can one imagine the presence of only one-function town? Why do the cities become 

multi-functional? 

Answer-  

¶ No.  

¶ At present scenario hardly there will be any town which has single function. Every 

town has multi-functional ability. Every town has many functions such as 

administrative, industrial, transport, commercial, mining, garrision cantonment, 

educational, religious and cultural and tourist town.  

¶ No cities can survive at present with single function.  

¶ Towns are known by only dominant function. 

¶ Every town has to be multi-functional for their survival.  

3. Classify the towns on the basis of evolution. Explain. 

Answer-  

¶ On the basis of their evolution in different periods, Indian towns may be classified 

as: Ancient, Medieval and Modern towns 

Ancient towns ï There are number of towns in India having historical background 

spanning over 2000 years.  

¶ Most of them developed as religious and cultural centres. Varanasi, Prayagraj, 

Pataliputra (Patna), Madurai are some examples of ancient towns in the country.  

Medieval towns- Most of the fort towns which came up on the ruins of ancient towns. 

Important among them are Delhi, Hyderabad, Jaipur, Lucknow, Agra and Nagpur. 

There are about 100 existing medieval towns at present.  

Modern towns- These towns were developed by British and other Europeans in India. 

They developed Surat, Daman, Goa, Pondicherry, Mumbai, Chennai, Kolkata.  

¶ Towns based on modern industries also evolved after 1850. Jamshedpur as 

example.  

¶ After independence a large number of towns have been developed as 

administrative headquarters e.g. Chandigarh, Bhubneswar, Gandhinagar, Dispur, 

Bhilai, Sindri, Barauni, etc.  

¶ Some satellite towns developed around Metropolitan cities such as Ghaziabad, 

Rohatak, Gurugram around Delhi. 

4. Explain the various functional classifications of Towns.  

Answer-  

¶ 1-Administrative towns - Towns supporting administrative headquarters of higher 

order are administrative towns, such as Chandigarh, New Delhi, Bhopal, Shillong, 

Guwahati, Imphal, Srinagar, Gandhinagar etc.  
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¶ 2- Industrial Towns- Industries constitute prime motive force of these cities, such 

as Mumbai, Salem, Coimbatore, Modinagar, Jamshedpur, Hugli, Bhilai, etc. 

¶ 3- Transport cities- They may be ports engaged in export and import such as 

Kandla, Kochchi, Kozhikode, Vishakhapatnam etc.  

¶ 4- Commercial Towns- Towns and cities specialising in trade and commerce are 

kept in this class. Kolkata, Saharanpur, Satna, etc., are some examples. 

¶ 5- Mining towns - These towns have developed in mineral rich areas such as 

Raniganj, Jharia, Digboi, Ankaleshwar, Singrauli, etc. 

¶ 6- Garrission Cantonment towns - These towns emerged as garrisson towns such 

as Ambala, Jalandhar, Mhow, Babina, Udhampur, etc. 

¶ 7- Educational towns- Starting as centres of education, some of the towns have 

grown into major campus towns, such as Roorki, Varanasi, Aligarh, Pilani, 

Allahabad, etc. 

¶ 8- Religious and cultural towns- Varanasi, Mathura, Amritsar, Madurai, Puri, 

Ajmer, Pushkar, Tirupati, Kurukshetra, Haridwar, Ujjain came to prominence due 

to their religious/cultural significance. 

¶ 9- Tourist towns- Nainital, Mussoorie, Shimla, Pachmarhi, Jodhpur, Jaisalmer, 

Udagamandalam (Ooty), Mount Abu are some of the tourist destinations.  

¶ The cities are not static in their function. The functions change due to their 

dynamic nature. 

Short Answer type of Questions  

5. Mention the objectives of Smart City Mission.  

Answer-  

¶ The objective of the Smart Cities Mission is to promote cities that provide core 

infrastructure, a clean and sustainable environment and give a decent quality of life 

to its citizens.  

¶ Making areas less vulnerable to disasters using fewer resources and providing 

cheaper services.  

¶ The focus is on sustainable and inclusive development of the city. 

6. Classify the towns on the basis of population size.  

Answer-  

¶ Urban centre with population of more than one lakh is called a city or class I town. 

Cities accommodating population size between one to five million are called 

metropolitan cities and more than 10 million population is called Megalopolis or 

Mega cities.  

¶ Majority of metropolitan and mega cities are urban agglomerations.   

¶ More than 60 per cent of urban population in India lives in Class I towns. Out of 

468 cities, 53 cities/ urban agglomerations are metropolitan cities.  

¶ Among them, Greater Mumbai is largest agglomeration. Delhi, Kolkata, Chennai, 

Bengaluru and Hyderabad are other mega cities in the country.  

7. Briefly explain about the urbanisation in India. 
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Answer-  

¶ The level of urbanization is measured in terms of percentage of urban population 

to total population. The level of urbanisation in India in 2011 was 31.16%. 

¶ Growth rate of urbanization has slowed down during last two decades.  

¶ Maximum decadal growth rate was in 1981. Which was 46.14%.  

8. Briefly explain about how modern towns developed?  

Answer-  

¶ Modern towns- These towns were developed by British and other Europeans in 

India. They developed Surat, Daman, Goa, Pondicherry, Mumbai, Chennai, 

Kolkata.  

¶ Towns based on modern industries also evolved after 1850. Jamshedpur as 

example.  

¶ After independence a large number of towns have been developed as 

administrative headquarters e.g. Chandigarh, Bhubneswar, Gandhinagar, Dispur, 

Bhilai, Sindri, Barauni, etc.  

¶ Some satellite towns developed around Metropolitan cities such as Ghaziabad, 

Rohatak, Gurugram around Delhi.  

9. What are the factors responsible for the settlement patterns in different physical 

environments? 

Answer-  

¶ There are various factors and conditions responsible for having different types of 

rural settlements in India. These include:  

Physical features   

¶ Nature of terrain 

¶ Altitude 

¶ Climate  

¶ Availability of water  

Multiple Choice Questions (MCQs) 

10. Which one among the following is not a type of rural settlement? 

a- Semi-Clustered settlement 

b- Isolated settlement 

c- Hamleted settlement 

d- Temporary settlement  

11. In which rural settlement type Panna, Palli, Nagla, Dhani etc are found? 

a- Temporary settlement 

b- Dispersed settlement 

c- Clustered Settlement 

d- Hamleted settlement  

12. Which one from the following is example of Ancient town? 

a- Varanasi 

b- Delhi 
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c- Agra 

d- Jaipur  

13. According to 2011, what is the percentage of population living in urban area in India? 

a- 29.16% 

b- 31.16% 

c- 33.16% 

d- 35.16%  

14. In which year the decadal growth rate of urban population was maximum?  

a- 1971 

b- 1981 

c- 1991 

d- 2001 

15. Which one from the following is known as Industrial Town? 

a- Shillong 

b- Vishakhapatnam 

c- Digboi 

d- Jamshedpur 

16. Which one among the following is not the example of Garrison Cantonment town? 

a- Babina 

b- Udhampur 

c- Kozhikode  

d- Mhow  

17. Which one among the following is not example of Educational Town? 

a- Haridwar  

b- Roorki 

c- Aligarh 

d- Prayagraj  

5. Water Resource (India People and Economy) 

Long Answer type of Questions 

1. It is said that the water resources in India have been depleting very fast. Discuss the 

factors responsible for depletion of water resources?  

Answer-  

¶ Definitely the water resources in India have been depleting very fast.  

¶ We have only 4% water resource of the world for 17.7% population of the world in 

India. There is only 0.68% water available for groundwater. Every sector like 

domestic, industrial or agricultural sector depend on this small quantity of water. 

Which is also very fast depleting because to its overuse.  

¶ Water pollution  is major cause for deterioration of water quality. When toxic 

substances enter lakes, streams, rivers, ocean and other water bodies, they get 

dissolved or lie suspended in the water.  



99  

 

¶ These pollutants also seep down and pollute groundwater. Ganga and Yamuna are 

two most polluted rivers in the country.  

¶  Due to over irrigation many other problems are originating such as  

o Fluoride concentration has increased in Rajasthan and Maharashtra. 

o arsenic concentration has increased in West Bengal and Bihar. 

o Soil is becoming saline in Punjab and Haryana.  

Due to above reason the water resource is depleting very fast in India.  

2. What is watershed management? Do you think it can play an important role in 

sustainable development? 

Answer-  

¶ Watershed management basically refers to efficient management and conservation 

of surface and groundwater resources.  It involves prevention of runoff and storage 

and recharge of groundwater through various methods like percolation tanks, 

recharge wells, etc.  

¶ Yes. Watershed management is very important for sustainable development. 

Because it saves water which is beneficial for future generation.  

¶ Watershed management includes Rainwater harvesting technology which is very 

important for sustainable use. Through it we can store water in the underground 

tank and use in the time when it is required.  

¶ Haryali  is a watershed development project sponsored by the Central Government 

which aims at enabling the rural population to conserve water for drinking, 

irrigation, fisheries and afforestation.  

¶ Neeru-Meeru (Water and You) programme (in Andhra Pradesh) and Arvary Pani 

Sansad (in Alwar, Rajasthan) have taken up constructions of various water-

harvesting structures such as percolation tanks, dug out ponds (Johad), check 

dams, etc., through peopleôs participation.  

¶ Above all prove that Watershed management can play an important role in 

sustainable development.  

3. What do you know about Watershed management? How is it being carried in the various 

part of India with examples? 

Answer-  

¶ Watershed management basically refers to efficient management and conservation 

of surface and groundwater resources.  It involves prevention of runoff and storage 

and recharge of groundwater through various methods like percolation tanks, 

recharge wells, etc.  

¶ However, in broad sense watershed management includes conservation, 

regeneration and judicious use of all resources ï natural (like land, water, plants 

and animals) and human with in a watershed.  

¶ Haryali  is a watershed development project sponsored by the Central Government 

which aims at enabling the rural population to conserve water for drinking, 

irrigation, fisheries and afforestation.  
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¶ Neeru-Meeru (Water and You) programme (in Andhra Pradesh) and Arvary Pani 

Sansad (in Alwar, Rajasthan) have taken up constructions of various water-

harvesting structures such as percolation tanks, dug out ponds (Johad), check 

dams, etc., through peopleôs participation.  

¶ Tamil Nadu has made water harvesting structures in the houses compulsory.  

 

4. Do you think that Rain water harvesting can play an important role in sustainable 

development? If yes then how?  

Answer-  

Rainwater Harvesting  

¶ Rainwater harvesting is a method to capture and store rainwater for various uses 

and recharge groundwater aquifers.  

¶ It increases water availability, checks the declining groundwater table, improves 

the quality of groundwater through dilution of contaminants, like fluoride and 

nitrates, prevents soil erosion. 

¶ In Rajasthan, rainwater harvesting structures locally known as Kund or Tanka (a 

covered underground tank) are constructed near or in the house or village to store 

harvested rainwater 

 

Short Answer type of Questions 

5. Why do you think that irrigation is necessary? 

Answer-  

¶ Irrigation is needed because of spatio-temporal variability in rainfall in the 

country. The large tracts of the country are deficient in rainfall and are drought 

prone. North-western India and Deccan plateau constitute such areas. 

¶ Even in the area of ample rainfall like west Bengal and Bihar irrigation is required 

during óBreak in Monsoonô.  

¶ Multiple cropping and high yielding varieties seeds (HYVs) require regular 

moisture supply.  

¶ Because of irrigation, Green revolution strategy was successful in Punjab, Haryana 

and Western Uttar Pradesh.  


